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Question Number : 1 Question Id : 7532291621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

BC, UJ, NR, GX, ZE
Options :

1. % UJ

2. ¥ NR

3. % GX

4. % ZE



Question Number : 1 Question Id : 7532291621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3fIepd fear T 8, Fo s 9§t e 7Tad ¢ | fau 7 faswed § ¥ 39 7ad ue &1 gi-u|

BC, UJ, NR, GX, ZE
Options :

1. = U

2. ¥ NR

3. % GX

4. % ZE

Question Number : 2 Question Id : 7532291622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in the sequence in which they occur in the dictionary.

1. Rancorousness
2. Rammishness
3. Randomization
4. Ramification
5. Rapturousness

Options :

1. % 24135
2. % 42315
3. ¥ 42135
4. % 24315

Question Number : 2 Question Id : 7532291622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeTRad el 1 AeGhIN H S dTdl hH & IR ferd |

1. Rancorousness




2. Rammishness
3. Randomization
4. Ramification
5. Rapturousness

Options :

1. # 24135
2. % 42315
3.9 42135
4, % 24315

Question Number : 3 Question Id : 7532291623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four letter pairs are given. The letters on left side of (—) is related to the letters on the right side of () with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :

1. ¥ PF-QG
2. % MG -LH
3. % SV-RW
4, % LS—KT

Question Number : 3 Question Id : 7532291623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R feu T vy B, IR 31eR I AU U § 1 (1) & ST SR T T 31eR () F ot 3R oA T s1eR ot adh /ey I et g1 =
I TH qh/Mar/AEY & YR IR 90 ¢ | 3T 7T fawen & ¥ fawd &1 g

Options :

1.+ PF— QG

2. % MG-LH

3. % SV-RW

4. ®# LS—KT



Question Number : 4 Question Id : 7532291624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related words from the given alternatives.

Needle : Sew :: knife : ?
Options :

1. ¥ Cut

2. % Plate

3. % Cup

4. % Scissor

Question Number : 4 Question Id : 7532291624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad we # fou e fawed # ¥ Tefid wsg! &1 g
Fﬁ:ﬁl?ﬁ[::a@?

Options :
1. ¢ DIcHl
2. % Wie
3. % dY
4. % &t

Question Number : 5 Question Id : 7532291625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter pair from the given alternatives.

NQT : SWR :: ?
Options :
1. % DCS : 1IQ

2. % PJF : UPC



3. % BLM : GQK
4. % VXA : ABY

Question Number : 5 Question Id : 7532291625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o fau e fawed! & 4 defia sier g o1 gl

NQT : SWR :: ?
Options :

1. ¥ DCS : 1IQ
2. % PJF: UPC
3. ¥ BLM : GQK
4. ¥ VXA : ABY

Question Number : 6 Question Id : 7532291626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘NUMBER’ is written as ‘1361425229°. What is the code for ‘YERBAS’ in that code language?
Options :

1. ¥ 222925268

2. % 212925268

3. % 222924268

4. % 22925268

Question Number : 6 Question Id : 7532291626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fAfRIY ®Ig UMW H, ‘NUMBER’® &1 “1361425229° foRaT SITd1 81 39 BHIS HIST H ‘YERBAS’ H1 HIS HT 82
Options :

1. ¢ 222925268

2. % 212925268



3. % 222924268
4. % 22925268

Question Number : 7 Question Id : 7532291627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A team of four members is to be selected among four boys B1, B2, B3 and B4 and four girls G1, G2, G3 and G4. B1 cannot be selected with G3.
G1 cannot be selected with B2. B4 cannot be selected with B3. G2 cannot be selected with G4.
Which of the following members can be selected?

Options :

1. # G1,G2,B2,G3
2. % B1,B2,B3, Gl
3.% G1,G2,B4,G3
4. % Bl1, B2, B3, G3

Question Number : 7 Question Id : 7532291627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR TSP B, B2, B3 dUT B4 dUT IR TSl G1, G2, G3 AU G4 A VIR TS| B U ¢ BT 99 [Ha1 ST |1 B1 BT G3 & 1Y T
Tl fa1 ST IwdI 81 G1 &1 B2 & 1Y 9 e {501 ST Thdl 8 1 B4 BT B3 & 1Y TG 718} [l S Toball 8| G2 BT G4 & 1Y TIF el
far o g 3|

fafafaa o § f= gewal &1 9g4 far o gedr g2

Options :

1. % G1,G2, B2, G3

2. % B1, B2, B3, Gl

3. ¥ Gl, G2, B4, G3

4. % B1, B2, B3, G3

Question Number : 8 Question Id : 7532291628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If ‘A + B’ means ‘A is the father of B’, ‘A + B’ means ‘A is the mother of B’, ‘A * B’ means A is the brother of B’ and ‘A @ B’ means ‘A is
the sister of B’, then which of the following expression represents C as the maternal uncle of F?



Options :

. * C+D*E@F
2. % C+D@E*F
3. C*D+E@F
4. ¥ C*D@E~F

Question Number : 8 Question Id : 7532291628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i A+ B BT A, BHITAATRD, ‘A~ B BT A, BHIATAT R, ‘A * B BT Y ‘A, BHTHIS & TUT ‘A @ B’ BT 31 <A, B DI g8
&, @ Fofafad & 9 &9 1 S ¢ & F &1 3191 =11 82

Options :

1. * C+D*E@F

2. C+D@E*F

3. C*D+E@F

4. ¥ C*D@E~F

Question Number : 9 Question Id : 7532291629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five girls A, B, C, D and E wear one T-shirt among five different colour of T-shirts S1, S2, S3, S4 and S5 (not necessarily in the same order).
Each also likes a sweet namely N1, N2, N3, N4 and N5 (not necessarily in the same order). C and E wear S1 and S4 respectively. A does not
wear S2. B does not like N1 or N4. The one who wears S3 does not like N2. The one who wears S2 likes N4. The one who wears S5 likes N1. E
does not like N2 or NS5.

Which of the following statement is correct?

I. B likes N5.
II. C and E like N2 and N3 respectively.
III. B and D wear S2 and S3 respectively.

Options :

1. % I, Il and III
2.% Tand II

3. % Il and III



4. % Jand III

Question Number : 9 Question Id : 7532291629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O @Al A, B, C, D 9T E UTd faftrs S &) A-=1¢ s1, S2, 83, 84 AUT 5 F U -3¢ Uga § (S] T8l &t 3 HH 7 8Y) | UAP Bl
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IL. C TUTE P HHT: N2 TUT N3 TS
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Options :

1. % 1 I duT I

2. ¢ 1A

3. % (AT

4. % 1A

Question Number : 10 Question Id : 7532291630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. No A is B.
II. No B is C.

Conclusions:
I. No AisC.
II. Some A are C.



Options :

1. % Only conclusion I follows

2. % Only conclusion II follows

3. # Both conclusion I and II follows

4. ¥ Neither conclusion follows

Question Number : 10 Question Id : 7532291630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3T T Uy & 8 U 3R 3% 918 31 HUHI IR SAUING & 56y 3T T4 § | 3T T = &1 91 A, 918 S8 Qg I 9
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Options :

1. # $Had [5HY [ 3IERU Hdl §

2. % Had fHY 11 TR0 BT &

3. % G fISHY [ T 11 SFJIR0T 6’ §
4.« B13 Wi FIshy SR T8l HrT §

Question Number : 11 Question Id : 7532291631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements

to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. Some A are B.



II. Some C are A.
III. All A are D.

Conclusions:

I. Some C are D.
II. Some B are D.
III. Some C are B.

Options :

1. ¢ Both conclusion I and II follows
2. % Both conclusion II and III follows
3. # Both conclusion I and III follows

4. % All conclusion follows

Question Number : 11 Question Id : 7532291631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T feu U Uy & 8 U 3R I 918 31 HUHI IR ATUNRG & 56y 3T T4 § 1 3T T H2= &1 981 aM, 918 S8 Qg J1d 9
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Options :

1. ¢ S B 1 T 11 3ERU1 R §
2. % I FSHY 11 qT 111 3FIERUT 63l &
3. % QI S [ T 111 SR Hd §
4. % 1} FIsh Y SFIRRUI R §



Question Number : 12 Question Id : 7532291632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
By Interchanging which two digits the given equation will be correct?

4x40+9+16-5+50=129
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.4,5

2.5,9

3.4,6

4.4,9

Question Number : 12 Question Id : 7532291632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fob=1 <1 FATSHl b1 MUY H TREWR Faar WR fagm T FHIhRT e 8l S

4x40+9+16-5+50=129

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1.4,5
2.5,9
3.4,6
4.4,9

Question Number : 13 Question Id : 7532291633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following question, select the missing number from the given series.

4,4,6,12,30,90,?
Options :
1. % 320
2.9 315
3. % 360
4. % 270

Question Number : 13 Question Id : 7532291633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ver & < 1 o & @ g 8fd 1d S|

4,4,6,12, 30,90, ?
Options :
1. % 320
2.9 315
3. % 360
4. % 270

Question Number : 14 Question Id : 7532291634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many officers are not peon?



Clerk m Officer

Peon
Options :
1. % 46
2. % 49
3. % 82
4. v 95

Question Number : 14 Question Id : 7532291634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

mm

TYLHY
Options :
1. % 46
2. % 49



3. % 82
4.4 95

Question Number : 15 Question Id : 7532291635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement is correct?

I. Number of yellow which are neither green nor red, are 140.
II. The number of red which are only green is 29.

Red
Yellow !!
Green
Options :
1. % Only I
2.9 Only II

3. % BothIandII
4. % Neither I nor 11

Question Number : 15 Question Id : 7532291635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ 7T 37 3MT & YR R, FufeRad & T o9 91wy 981 82
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I1. 98 AT ol a8 &, Bl TBAT29 B



Options :

A
O

3. % [dUT I Sl
4. % qATEIIATSII

Question Number : 16 Question Id : 7532291636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person walks 20 km towards the south. He turns to the left and walks 25 km. He turns to the right at an angle of 45 degree and walks 5 km.
Finally, he turns to the left and walks 15 km. In which direction is he facing now?

Options :

1. # South-West
2. # North-West
3. % South-East
4. ¥ North-East

Question Number : 16 Question Id : 7532291636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP fad e ot 3R 20 fop 1. Tarar 8 1 a8 I 3R gaor § auT 25 fob . Iarar 81 98 45 fS3ft & H1or iR grff oik ggar g aur s f .
T ¢ | 3, I8 T 3R TSl & 9T 15 foh. Y. Tac ¢ | 319 I 0 e fG=n 1 iR 82

Options :



1. % Glémruigm
2. % IAR-UEH
3. % GRaurgd
4. ¢ IR

Question Number : 17 Question Id : 7532291637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Vijay starts walking and he walks 50 metre straight. He turns to the left and walks 20 metre. He turns to the right at an angle of 90 degree and
walks 10 metre. He turns to the right and walks 50 metre. He turns to the right and walks 100 metre. If now he is facing towards east, then in
which direction would he start walking?

Options :
1. ¥ West
2. # North
3. % East
4. # South

Question Number : 17 Question Id : 7532291637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TeT SIRY HRT § a1 T8 50 Hiex AT IedT & | a8 I 3R ST § a7 20 Hiex Iadl 8| 98 90 f&3 & it Rl iR &8
AT 10 HIex IadT1 5 | 98 SR SR g3 § a1 50 Hiex Iadl ¢ | I8 a1l 3R ISl § auT 100 HieR Iadl ¢ | G 3d I9HT 8 4d Bl 3R
g, O 35 o fomm & g omey fasan ghmo

Options :

1. ¢ Ufgg

2. % IR

3. % gg

4. % gferor

Question Number : 18 Question Id : 7532291638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following question, select the odd figure pair from the given alternatives.

Options :
N
- y = v D
-1 |IPA
—> & > <
2. %
] _[VV
$ A A
3.¢
> PV
R A

Question Number : 18 Question Id : 7532291638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofad oy & fou o fowedt & 9 faww siefa gm &1 gl

Options :

T 4 AV
- \VA S




-1 _ (PA

— e > <
2. %

Tyl _[VV

$ A A
3. ¢

>y PV
R A

Question Number : 19 Question Id : 7532291639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cube is taken and 3 equal cuts are made on each of the axis. How many small cubes will be obtained?
Options :

1.*9

2. % 16

3. ¥ 64

4. % 125

Question Number : 19 Question Id : 7532291639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS T forn TR § qUT U 31ef TR 3 SRI&R erd ol U g | favam Bie 9 U g1
Options :

1.%9

2. % 16




3.¥ 64
4. % 125

Question Number : 20 Question Id : 7532291640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
By folding the given paper, which of the following cube can be made?

@
$|#
& | ©
I 1 I11 IV
Options :
1. # LI Illand IV
2. % Tand II

3.% [Iland IV
4. % I, III and IV

Question Number : 20 Question Id : 7532291640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ T BrTS B AigA R, Fufafad § @ &9 91 99 991 S 9o 82




©

ﬁ!/u

Options :

1. % LIL UL dUT IV
2. % 14dYUTII

3. I dUTIV

4. % I, I TITIV
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General Awareness

Section Id : 75322990
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229108
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7532291641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Solung” festival is celebrated in which state of India?
Options :

1. # Himachal Pradesh

2. % Arunachal Pradesh

3. % Assam

4. % Mizoram

Question Number : 21 Question Id : 7532291641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“TIHT” AGR HRA & [T Isd H 71T A1l 82
Options :

1. % f3urd U

2. ¢ IRV TS

3. % 3JH

4. % foiRH"




Question Number : 22 Question Id : 7532291642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“Kamaicha” is which type of musical instrument?
Options :

1. # Wind instruments

2. % Stringed instruments

3. # Percussion instruments

4. % Solid instruments

Question Number : 22 Question Id : 7532291642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“Hoar fHd SR &1 Giiid are 39 82
Options :

1. % gl & ai

2. % dR Al

3. % dIdf dIed

4. % A

Question Number : 23 Question Id : 7532291643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The (fixed) interest rate at which the Reserve Bank absorbs liquidity, on an overnight basis, from banks against the collateral of eligible
government securities under the LAF is called the

Options :

1. # Repo Rate

2. ¥ Reverse Repo Rate
3. % Bank Rate

4. # Cash Reserve Ratio



Question Number : 23 Question Id : 7532291643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feTa =TT o= forg IR Rold d Ta.U.UW. & dgd s ¥ U WRHRI Ufayfadl & Juiie & v, iiar-1ge SR W, Ia-1y $i
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Options :

], % MR

2. ¢ RO R

3. % dF R

4. % TPl SRI&T Y srguTd

Question Number : 24 Question Id : 7532291644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct regarding micro industry in India?

L. Investment in Plant and Machinery or Equipment is not more than Rs.1 crore.
II. Annual turnover is not more than Rs. 5 crore.

Options :

1. % Only I

2. % Only IT

3. % BothIand II
4. % Neither I nor II

Question Number : 24 Question Id : 7532291644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR H geH 32 & e A Rufifad # 3 s aradi 22
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Options :

1. ® Hadl




2. % Had Il
3.« 1 QYT I Sl
4. % qrArrATarm

Question Number : 25 Question Id : 7532291645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example of emulsion?
Options :

1. * Fog

2. % Foam

3. ¥ Milk

4. % Milk of magnesia

Question Number : 25 Question Id : 7532291645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEfIREd o ¥ D19 SHRM &1 TP IaTevl 67
Options :

1. % PIgT

2. % B

3.4°qY

4. % TARE s

Question Number : 26 Question Id : 7532291646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following metal is NOT found in nature in the free state?
Options :

1. % Gold

2. # Silver



3. ¥ Aluminium

4. # Copper

Question Number : 26 Question Id : 7532291646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffaa 7 & o urg Ui & god srawur & 71 ure St 32
Options :

1. % gHI

2. % Tidl

3. ¢ Tegiafgg

4, % didr

Question Number : 27 Question Id : 7532291647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. Weight of a body is the force with which the earth attracts it.
I1. Value of force of gravity is greater at equator than at the poles.

Options :

1. ¥ Only I

2. % Only I

3. % BothlIandII
4. % Neither I nor II

Question Number : 27 Question Id : 7532291647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefed & ¥ o9 91 By I8l 82

1. U G &1 HR, I8 9 & Forad Jeat I 31Ut 3R 31 ffd Hrclt 8|
I1. TS 9 &1 A fayad gd W Yai B 3ua 31w gkl ]



Options :

1. Hadl

2. % Had Il

3. % [ UGl
4. % FAIATAI

Question Number : 28 Question Id : 7532291648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following river is called ‘Padma’ when it enters Bangladesh?
Options :

1. ¥ Yamuna

2. ¥ Ganga

3. # Brahmaputra

4. ¥ Godavari

Question Number : 28 Question Id : 7532291648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed 7 3 S @ 7¢) Siares § Ja¥ 37 IR T Heam 67
Options :

1% T

2. T

3. % dglgd

4. % TGIARY

Question Number : 29 Question Id : 7532291649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the largest salt water lake in India.
Options :



1. # Sambhar Lake
2. % Waular Lake
3. # Pulicat Lake
4. ¥ Chilika Lake

Question Number : 29 Question Id : 7532291649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
 URJ & oY 981 IR UM Bt S 5
Options :

1. % GiWR Sid

2. % qER Sl

3. % gferdhe giid

4. ¢ Tafee Sita

Question Number : 30 Question Id : 7532291650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. The folds of Great Himalayas are asymmetrical in nature.
II. The outer most range of the Himalayas is called Shiwaliks.

Options :

1. * Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 30 Question Id : 7532291650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffed & ¥ &9 91 Hy= I8l 82



1. HeT feHTer & aeid &1 Udbfa SrgAfid g
11. TRATera ot Ia) Tl 4l P FRrarfeis Hg1 S|

Options :

1. % FHadl

2. % Had Il

3. ¢ 1 AU Gl
4. % qGIIATRIII

Question Number : 31 Question Id : 7532291651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year Indian National Congress was established?
Options :

1. % 1891

2. % 1882

3. ¥ 1885

4. % 1890

Question Number : 31 Question Id : 7532291651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR AP B1UE BT RITA fobd e g5 i
Options :

1. % 1891

2. % 1882

3. ¥ 1885

4. % 1890

Question Number : 32 Question Id : 7532291652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Agra Fort was built by .
Options :

1. % Babur

2. ¥ Akbar

3. % Jahangir

4. ¥ Humayun

Question Number : 32 Question Id : 7532291652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRT ot &b GRI S-TaTT T T
Options :

1. % dlaR

2. ¥ PN

3. % SNk

4. % gAY

Question Number : 33 Question Id : 7532291653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. In 1895 Natal Congress was founded by Mahatma Gandhi along with other Indians.
II. In Ahmedabad Mahatma Gandhi led a successful millworkers strike in 1918.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 33 Question Id : 7532291653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ o9 91 By 981 82

I. 1895 H 3 YR & T1Y HGTHT el A Tel Hiog T T3 fobar o7l
1. 1918 ¥ 3rgHCTETE & HgTe el fire AoigR! & §8dTd &1 Ahadigdd g fbdl ATl

Options :

1. % Had 1
2. % Had Il
3. [ QYT I gl
4. % I I

Question Number : 34 Question Id : 7532291654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In August 2020, who won the Prem Bhatia Award for political reporting related to covid-19 pandemic?
Options :

1. ¥ Dipankar Ghose

2. % Ravish Kumar

3. % Barkha Dutt

4. ¥ Gauri Lankesh

Question Number : 34 Question Id : 7532291654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 2020 H, PGS 19 AEHRT T TafAd Iomifae KA & forg 9w wifea REeR feaa Sfian
Options :

1. ¢ feuier Uy

2. % AW HAR

3. % Y qd

4. % TR A>T



Question Number : 35 Question Id : 7532291655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In July 2020, which company has launched a new video conferencing application ‘Blue Jeans’?
Options :

1. # Facebook

2. % Amazon

3. % Bharti Airtel

4. % Vodafone

Question Number : 35 Question Id : 7532291655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S[aTs 2020 H, f5q HUAT 3 T 71 GifSA BISHRAT YU h R ‘& oi-a dl-d fohaT |
Options :

1. % BhUgd

2. % 3HGH

3. ¢ HRdl TRed

4. % QIS

Question Number : 36 Question Id : 7532291656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which international airport has bagged ‘Voice of customer award 2021°?
Options :

1. ¥ Kempegowda International Airport

2. % Netaji Subhash Chandra Bose International Airport

3. #® Sardar Vallabh Bhai Patel International Airport

4. ¥ Jayprakash Narayan International Airport

Question Number : 36 Question Id : 7532291656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

forg SIcRTETA BaTs 3fg P “AIIY T HICHR 37dTs 2021° T 82
Options :

1.  FHIRTIST SIRIFHT gaTs 3rg

2. % TSl GUTY I I SRTPTTT gaTS 3rgT

3. % YIGR deaH IS U SHRIPI gaTs 37g]

4, % S YT ARTIVT RIS §aTg 3rgT

Question Number : 37 Question Id : 7532291657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following comes under the state list of Indian constitution?
Options :

1. ¥ Actionable wrongs

2. # Trust and Trustees

3. # Inter state migration

4. ¥ Markets and fairs

Question Number : 37 Question Id : 7532291657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed & 3 & 91 YR Hfau™ &1 s I3t & Sfiavid M1l g2
Options :

1. % 3O QY

2. % N SR et

3. % S{ARATD Ferer

4. SR 3R A

Question Number : 38 Question Id : 7532291658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



By which amendment the word ‘socialist’ was added to the constitution of India?
Options :
1. % 44th
2. % 42nd
3. % 40th
4. % 78th

Question Number : 38 Question Id : 7532291658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA & Afae™ H “qHISIaG Weg [ TRNe gRI Siiel T11?
Options :

1. % 44797

2. 4271

3. % 404

4. % 78d[

Question Number : 39 Question Id : 7532291659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2026 TRITE WAl &1 ASEH DI AT o= B2
Options :

1. % SSHREA

2. % HAfRME

3. % SIUH

4. % 4

Question Number : 39 Question Id : 7532291659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which country will host the 2026 Asian Games?



Options :

1. # Indonesia
2. # Malaysia
3. % Japan

4. #® China

Question Number : 40 Question Id : 7532291660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who won the second ‘BBC Indian Sports Woman of Year’ award in March 2021?
Options :

1. ¥ Rani Rampal

2. % Koneru Humpy

3. # P.V. Sindhu

4. # Vinesh Phogat

Question Number : 40 Question Id : 7532291660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 2021 T, TERT ‘ST SFET WICH A 3 SAR° 3aTS [ Sidr
Options :

1. % I YT

2. ¢ B g

3. ® didh Ry

4. % fq-I=I BITE
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Group Number : 3
Group Id : 75322991

Group Maximum Duration : 0



Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Arithmetic Ability

Section Id : 75322991
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Number of Questions : 20
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Section Marks : 20
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Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7532291661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 2= = B]__ﬁ , then what is the value of x?
(9)
Options :
1. # 3/2
2. ¥ 8/5
3. % 9/5

4. % 5/2



Question Number : 41 Question Id : 7532291661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afy 27"=[;}% g, af x &1 &7 FT 2?2
Options :
1. % 3/2
2.9 8/5
3. % 9/5
4. % 5/2

Question Number : 42 Question Id : 7532291662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following fraction is greater than 4/7?

L. 4/9
I1. 6/11
II1. 8/13
IV. 4/5

Options :

1. # Both I and II

2. % Both II and III
3. % Both Il and IV
4. % Only IV

Question Number : 42 Question Id : 7532291662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafefad 7§ @ o= o g 4/7 Y 98182

I. 4/9



II. 6/11
III. 8/13
IV. 4/5

Options :

1. % [qUT IS
2. % [ QYT LS
3. ¢ NI AU IV o
4. % HAA IV

Question Number : 43 Question Id : 7532291663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many three digit numbers are there, which are divisible by 4?
Options :

1. % 250

2.9 225

3. % 230

4. % 240

Question Number : 43 Question Id : 7532291663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i 3fepl 1 feberl Tl &, Sl 4 9 fawrsa 82
Options :

1. % 250

2.9 225

3. % 230

4. % 240

Question Number : 44 Question Id : 7532291664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following number is divisible by 72?

I. 8864

II. 4536
II1. 6572
IV. 6408

Options :

1. % Only IV

2. % Both I and II
3. % Both II and III
4. ¥ Both Il and IV

Question Number : 44 Question Id : 7532291664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefed & ¥ o I T 72 T _HsT 82

I. 8864

I1. 4536
II1. 6572
IV. 6408

Options :

1. % Had 1V

2. % 1 QUL Gl
3. % [[ YT Il G
4. ¢ 11UV ST

Question Number : 45 Question Id : 7532291665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is the value of 2 e “'{_ \'/_

B

Options :
1. % 1
2. %2
3.¥1/2

4.“\5

Question Number : 45 Question Id : 7532291665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2+V(_ *j_mr:m?raa:n?‘?
e

Options :
1. % 1
2. %2
3.¢1/2

4.“\5

Question Number : 46 Question Id : 7532291666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The selling price of an article is Rs. 1482. If discount of 22 percent is given, then what will be the marked price of the article?
Options :



1. * Rs. 2100
2. ® Rs. 2000
3. ¥ Rs. 1900
4. % Rs. 1800

Question Number : 46 Question Id : 7532291666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T I 1 fashd T 1482 ¥ ¢ 1 IS 22 Tfawrd &1 ge < Wl &, df 9% o1 sifrd gea o g
Options :

1. % 2100 300

2. % 2000 39T

3. ¢ 1900 ¥UY

4. % 1800 30

Question Number : 47 Question Id : 7532291667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
125 is what percentage of 6257

Options :

1. % 10 percent

2. % 20 percent

3. % 30 percent

4. % 40 percent

Question Number : 47 Question Id : 7532291667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
125, 625 1 fasa1 Ufai=Td 82

Options :

1. % 10 gfaerd



2.+ 20 Ufard
3. % 30 Ufawd
4. % 40 gfa=rd

Question Number : 48 Question Id : 7532291668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If price of sugar is increased by 30 percent, then by what percentage consumption of sugar should be decreased so that the expenditure incurred
on sugar gets decreased by 25 percent?

Options :

1. # 39.4 percent
2. % 46.7 percent
3. ¥ 44.5 percent
4. ¥ 423 percent

Question Number : 48 Question Id : 7532291668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gﬁiﬂg%n@ﬁ3ocr|%|?z1?r@raawrrna1%,a‘r%ﬂtﬁﬁmﬁ%ﬁ%ﬁﬁﬁaﬁm@naﬁﬁwmwmzscri%ma
& gl §?

Options :

1. % 39.4 gfa=rd

2. % 46.7 Ufa=d

3. % 445 Jfa=d

4. 42 3 Ufa=d

Question Number : 49 Question Id : 7532291669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Amit sells two bottles. The cost price of the first bottle is equal to the selling price of the second bottle. The first bottle is sold at a profit of 20

percent and the second bottle is sold at a loss of 25 percent. What is the ratio of the selling price of the first bottle to the cost price of the second
bottle?



Options :
1.¥9:10
2.%2:3
3.%4:3
4. % 5:6

Question Number : 49 Question Id : 7532291669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TAd g Aidd o= & | Ugelt Siad &1 0 Yod, Ga! Siddl & [9ehd Yod & A ¢ | Tgah aidd B 20 UiRId & oy OR o1 731 § al
ST SIdd B 25 UTI=Id P11 TR 51 7T 5 | U8t Slad & [aehd Hed &1 guRl didd & ohd Jod & & SJUTd 82

Options :

1.¥9:10

2.% 2:3

3.% 4.3

4. % 5:6

Question Number : 50 Question Id : 7532291670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fx+y):(y+z):(z+x)=4:5:6and (x +y+ z) =45, then what is the value of z?
Options :

1. ¥ 21

2. % 15

3.% 10

4. %5

Question Number : 50 Question Id : 7532291670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2II'f%(Xer):(y+z):(z+x)=4 5 6HQJT(X+y+z)=45%,?‘ﬁZ$[II'FTW%?
Options :



1. ¥ 21
2. %15
3.% 10
4. %5

Question Number : 51 Question Id : 7532291671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The ratio of ages of two girls is 5 : 6. After four year the ratio will be 7 : 8. Which of the following statement is correct?

I. Ratio of their ages after 8 year will be 9 : 8.
IT Ratio of their ages after 10 years will be 10 : 11.

Options :

1. % Only I

2. ¢ Only II

3. % Both Iand Il
4. ® Neither I nor II

Question Number : 51 Question Id : 7532291671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l TSTHl P ST BT SIUM 5 : 6 8 | TR T8 TYT U 7 : 8 BT | FEfARad & ¥ o A1 HU 981 82

1. 8 TY UYTA SD! 3T BT AT 9 : § B
1. 10 TS UHTq SHDT 3T BT ST 10 : 11 THTT
Options :

1. % Had 1
2. ¥ HAd Il
3. % [ QYT gHl
4. % I I

Question Number : 52 Question Id : 7532291672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum becomes Rs. 15000 in 6 years on simple interest at the rate of 25 percent per annum. What is the total interest for the 6 years?
Options :

1. % Rs. 6500

2. % Rs. 6000

3. ¥ Rs. 9000

4. % Rs. 8700

Question Number : 52 Question Id : 7532291672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T YR ST TR 25 YTt Hfaas 1 X F 6 I8 H 15000 TG B K € | 6 TS BT Hot ST T 872
Options :

1. % 6500 30

2. % 6000 TYY

3. ¢ 9000 $YY

4. % 8700 3T

Question Number : 53 Question Id : 7532291673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rahul is driving a car at the speed of 16 km/hr. He stops for 9 minutes at end of every 13th km. What will be the time taken by him to cover a
distance of 96 km?

Options :

1. ¥ 423 minutes
2. ¥ 456 minutes
3. % 378 minutes
4. ® 398 minutes

Question Number : 53 Question Id : 7532291673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
M8 16 fob /Y /der &1 70 J T FR I @I & | 98 UIH 13 fob. 1t & 3id R 9 fiie & o Tdha1 81 96 o . 1 T g 08 I & g

3% gRI fobd=1 gag forar Sremme
Options :

1. ¢ 423 fie
2. % 456 e
3. % 378 fiFe
4. % 398 e

Question Number : 54 Question Id : 7532291674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train of length 200 metre crosses another train of length 150 metre, running on a parallel track in the opposite direction in 15 seconds. If the
speed of train having length 200 metre is 48 km/hr, then what is the speed of the other train?

Options :

1. ¥ 36 km/hr
2. # 42 km/hr
3. # 30 km/hr
4. #* 48 km/hr

Question Number : 54 Question Id : 7532291674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 200 Hicx T ITTS! HMIAR Fet WR fausid = & 9a g1 150 Hiex Tl T gkl Xamel ®f 15 9dhe H UR &l g | Afe 200
Hiex TS aTe YIS B I 48 6 H /e 7, A guRt YeTel $ AT & 82

Options :

1. ¢ 36 foo 1t /eieT
2. % 42 fop WY der
3. % 30 fo Y. der
4. % 48 foo 1t e




Question Number : 55 Question Id : 7532291675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

N boys can complete a book in 60 days. If there were ten more boys, then book could be completed in 12 days less. What is the value of N?
Options :

1. ® 52

2. % 32

3.9 40

4. % 42

Question Number : 55 Question Id : 7532291675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

N AS% U JI® &1 60 fed B R IR Tohd 81 IS 38 d8d R 8, @l s 12 A sn A g g1 gt I NS AR R |2
Options :

1. % 52

2. % 32

3.9 40

4. % 42

Question Number : 56 Question Id : 7532291676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Side of a thombus is 5 cm. If the length of one of its diagonal is 8 cm, then what will be the length of other diagonal?
Options :

1. # 8 cm

2. % 4cm

3.¥ 6cm

4. % 3 cm

Question Number : 56 Question Id : 7532291676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T THAGHS &1 Yo7 5 A.41. B 1 9 39 U fawpul ot arg 8 A B, o ¥R [yl 1 cfag am gfte
Options :

1. % g A

2. % 499

3. 6O

4. % 394

Question Number : 57 Question Id : 7532291677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Volume of a solid cylinder whose height is 48 cm is equal to the double of the volume of a solid sphere. If radius of the base cylinder and radius
of sphere are equal, then what will be radius?

Options :

1. # 96 cm
2. % 64 cm
3. % 36 cm
4. ¥ 18 cm

Question Number : 57 Question Id : 7532291677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 31 o, et Sars 48 T, B, ITDT 3 U 319 el & SMa & AT & SRIeR ¢ | fe Sa- & SR Bt Fsar auT Mia &t
oo sRTeR ®, ) Frear n ghfe

Options :

1. % 96 9.,
2. % 64 9L
3. % 36 3.H.
4. 183 Q.H.

Question Number : 58 Question Id : 7532291678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the expenditure of a family on 8 different articles in a year. The total expenditure on all these 8 article is Rs.
80000. Expenditure on a particular article is shown as a percentage of total expenditure on all these 8 articles.

Which of the following statement is correct?

I. The average expenditure on articles C, E, F and H is Rs. 5200.
II. The difference between expenditure on article A and B is Rs. 6400.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 58 Question Id : 7532291678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fea o 9 o T 9 A ¢ fafirs aegsff IR ue uRaR & oqg &) gxIfdr 81 39 9+t 8 a¥gsil R &d 30 80000 0T g | T Ay axg
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Options :

1. % Had 1

2. % Had Il

3. ¢ 1AUT I A

4. % I IAIE I

Question Number : 59 Question Id : 7532291679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line graph given below shows income and saving of six companies.
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Expenditure = Income — Saving
What is the difference between income of company L and expenditure of company Q?

Options :
1. % 40
2. % 30
3. ¥ 60
4. % 20

Question Number : 59 Question Id : 7532291679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # 40

2. % 30

3.¢ 60

4. % 20

Question Number : 60 Question Id : 7532291680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The bar graph given below shows revenue of two companies on selling six different article.
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J1 = The value of average revenue by selling articles A1 and A2 for company C1
J2 = The value of average revenue of by selling all article by company C2
What is the value of J1 : J2?

Options :
1. % 7:15
2.¥9:7
3.% 14:5
4. % 18:7

Question Number : 60 Question Id : 7532291680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. % 7:15
2.¥9:7

3.% 14:5

4. % 18:7
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General English
Section Id : 75322992
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
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Question Number : 61 Question Id : 7532291681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

My friend who came (1)/ from London last night (2)/insisted at paying for the meal (3)/.No error (4)
Options :

1. %1

2.% 2

3.3

4. % 4

Question Number : 61 Question Id : 7532291681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.



My friend who came (1)/ from London last night (2)/insisted at paying for the meal (3)/.No error (4)
Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 62 Question Id : 7532291682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

One of the hard lessons of conservation (1)/ history across the world is that national parks and protected areas (2)/ were often created at the
expense of indigenous people. (3)/. No error (4)

Options :
1. %1
2. %2
3.%3
4. ¥ 4

Question Number : 62 Question Id : 7532291682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

One of the hard lessons of conservation (1)/ history across the world is that national parks and protected areas (2)/ were often created at the
expense of indigenous people. (3)/. No error (4)

Options :
1. %1
2.% 2
3.%3
4. ¥ 4



Question Number : 63 Question Id : 7532291683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

I will not do no homework.

Options :

1. # done no homework
2. # do none homework
3. % do any homework

4. ¥ No improvement

Question Number : 63 Question Id : 7532291683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

I will not do no homework.

Options :

1. # done no homework
2. # do none homework
3. % do any homework

4. ¥ No improvement

Question Number : 64 Question Id : 7532291684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

A big clock on the wall behind him indicated it was almost nine.
Options :



1. #* behind him indicates
2. * besides him indicates
3. * besides him indicated

4. ¥ No improvement

Question Number : 64 Question Id : 7532291684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

A big clock on the wall behind him indicated it was almost nine.
Options :

1. # behind him indicates

2. # besides him indicates

3. # Dbesides him indicated

4. ¥ No improvement

Question Number : 65 Question Id : 7532291685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

An organization requires staff so that they can handle things smoothly.
Options :

1. # frantic

2. % lament

3. # element

4. ¥ cfficient

Question Number : 65 Question Id : 7532291685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

An organization requires staff so that they can handle things smoothly.
Options :

1. % frantic

2. % lament

3. # element

4. ¥ efficient

Question Number : 66 Question Id : 7532291686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Aquatic life is considered to be the peaceful life.
Options :

1. * much

2. % too

3. % more

4. ¥ most

Question Number : 66 Question Id : 7532291686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Aquatic life is considered to be the peaceful life.
Options :

1. ®* much

2. ® too

3. # more

4. ¥ most



Question Number : 67 Question Id : 7532291687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

While camouflage

P: fur, the switch to winter whites likely
Q: confers other advantages as well

R: that has selected for seasonally white
S: is one evolutionary factor

Options :

1. ¥ SRPQ
2. % PQRS
3. % QPSR
4. * QRPS

Question Number : 67 Question Id : 7532291687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

While camouflage

P: fur, the switch to winter whites likely
Q: confers other advantages as well

R: that has selected for seasonally white
S: is one evolutionary factor

Options :

1. ¥ SRPQ
2. % PQRS
3. % QPSR
4. * QRPS

Question Number : 68 Question Id : 7532291688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Rearrange the parts of the sentence in the correct order.

P: with nature's fury as well, and, though many are adapted to
Q: even be able to exploit them, they hardly escape unscathed
R: the flora and fauna of coastal areas must contend

S: the harsh climatic variations of their habitats and may

Options :

1. # QRPS
2. % QPRS
3. ¥ QSPR
4. ¥ RPSQ

Question Number : 68 Question Id : 7532291688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: with nature's fury as well, and, though many are adapted to
Q: even be able to exploit them, they hardly escape unscathed
R: the flora and fauna of coastal areas must contend

S: the harsh climatic variations of their habitats and may

Options :

1. # QRPS
2. % QPRS
3. ¥ QSPR
4. ¥ RPSQ

Question Number : 69 Question Id : 7532291689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Trouble
Options :
1. * Flight



2. ¢ Plight
3. # Advocate
4. % Oblige

Question Number : 69 Question Id : 7532291689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Trouble
Options :

1. # Flight

2. ¥ Plight

3. % Advocate
4. % Oblige

Question Number : 70 Question Id : 7532291690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Ascertain
Options :

1. ¥ Overlook
2. % Rummage
3. % Descry

4. % Divine

Question Number : 70 Question Id : 7532291690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.



Ascertain
Options :

1. ¥ Overlook
2. % Rummage
3. # Descry

4. % Divine

Question Number : 71 Question Id : 7532291691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Abhorrebt

2. ¥ Abhorrent

3. % Ubhorent

4. % Abhaurrant

Question Number : 71 Question Id : 7532291691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Abhorrebt

2. ¥ Abhorrent

3. % Ubhorent

4. ¥ Abhaurrant

Question Number : 72 Question Id : 7532291692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :



1. ¥ Ammature
2. % Ameteur
3. % Imateur
4. ¥ Amateur

Question Number : 72 Question Id : 7532291692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Ammature

2. % Ameteur

3. % Imateur

4. ¥ Amateur

Question Number : 73 Question Id : 7532291693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Hit the sack

Options :

1. # To eat more than needed
2. # To live off someone

3. % To be dishonest

4. ¥ To go to sleep

Question Number : 73 Question Id : 7532291693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Hit the sack



Options :

1. # To eat more than needed
2. # To live off someone

3. % To be dishonest

4. ¥ To go to sleep

Question Number : 74 Question Id : 7532291694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To screw up one’s courage
Options :

1. # To ditch somebody in need
2. % To bottle up one’s feelings
3. % To force oneself to be brave

4. % Decrease in value due to constant use

Question Number : 74 Question Id : 7532291694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To screw up one’s courage
Options :

1. # To ditch somebody in need
2. % To bottle up one’s feelings
3. % To force oneself to be brave

4. % Decrease in value due to constant use

Question Number : 75 Question Id : 7532291695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Choose the word that can substitute the given sentence.

A person who hates humankind
Options :

1. # Missionization

2. ¥ Misanthrope

3. % Malevolent

4. ¥ Odium

Question Number : 75 Question Id : 7532291695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A person who hates humankind
Options :

1. # Missionization

2. % Misanthrope

3. ¥ Malevolent

4. % Odium

Sub-Section Number : 2
Sub-Section Id : 753229111
Question Shuffling Allowed : Yes

Question Id : 7532291696 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following information carefully and answer the given questions.

The Mumbai Police have come up with a unique initiative, where traffic lights stay red if the noise level is above 85 decibels. This is to make
motorists stop honking unnecessarily at traffic junctions. But Mumbeai is not the noisiest city in the country. That position is occupied by
Chennai, according to a recent study by the Central Pollution Control Board. Chennai has a daytime average noise level of 67.8 decibels, much
higher than the accepted standard of 55 decibels. Not just Chennai, almost every city in India has recorded noise levels way higher than what is
considered acceptable. The primary reason is the lack of focus. While authorities and environmentalists have dedicated their efforts in dealing



with air and water pollution, but little has been done for noise, at least in India.

The Noise Pollution (Regulation and Control) Rules, 2000 provide a road map for noise control, but seldom are its provisions put to use. Not just
that, considering the change in the country’s technological and transportation landscape, the rules are proving to be largely inadequate. The rules
ban honking in silence zones—though the ban is seldom enforced—they do not put any restrictions on the type of horn used in vehicles.
Realizing the shortcoming, the CPCB in 2017 decided to ban musical, multi-toned and pressure horns in metro cities. This is also barely
implemented. While air horns and pipe horns are banned from use, they are openly sold in auto shops across cities.

In comparison, developed nations have prescribed standards for horns in vehicles and rules for when drivers can honk. “A horn should not be
sounded when stationary on a road at any time, other than at times of danger due to another vehicle on or near the road. A horn should not be
used on a moving vehicle on a restricted road (one that has street lights and a 30mph limit) between the times of 11:30 pm and 7:00 am,” says the
UK law. What India needs more than ranking cities in terms of noise is a comprehensive policy to help authorities deal with the menace before it
gets out of hand, as is the case with air and water.

Sub questions

Question Number : 76 Question Id : 7532291697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be the suitable title for the given passage?
Options :

1. # The growing pollution in Chennai

2. % Air and water pollution

3. % Noise pollution — an often overlooked problem
4. % New scheme of Mumbai

Question Number : 77 Question Id : 7532291698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following standards is NOT prescribed by developed nations for the noise pollution?
Options :

1. # A horn should not be sounded when stationary on a road at any time.

2. % A horn should not be used on a moving vehicle on a restricted road.

3. % A horn should not be used on a moving vehicle between the times of 11:30 am and 7:00 pm.

4. # A horn can be sounded at times of danger due to another vehicle on or near the road.

Question Number : 78 Question Id : 7532291699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What reason has been given by the author for growing noise pollution in Indian cities?
Options :

1. ¥ Authorities and environmentalists are more concerned about air and water pollution.
2. # Authorities in India have made no proper reforms in respect of noise pollution.

3. # There is no proper road map for noise control.

4. % Rise of construction activities in a daytime.

Question Number : 79 Question Id : 7532291700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the antonym of the word ‘menace’?
Options :

1. # Disparage

2. % Peril

3. % Harmful

4. ¥ Felicitous

Question Number : 80 Question Id : 7532291701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What conclusion can be drawn from the given passage?

Options :

1. ¥ Apart from air and water pollution, stringent policies for noise pollution are also required.
2. # New schemes should be implemented to curb unnecessary construction activities.

3. # Noise pollution is on the rise in India and the government is busy in other affairs.

4. % A comprehensive policy is required to control air and water pollution, before curbing noise pollution.

Question Id : 7532291696 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following information carefully and answer the given questions.



The Mumbai Police have come up with a unique initiative, where traffic lights stay red if the noise level is above 85 decibels. This is to make
motorists stop honking unnecessarily at traffic junctions. But Mumbai is not the noisiest city in the country. That position is occupied by
Chennai, according to a recent study by the Central Pollution Control Board. Chennai has a daytime average noise level of 67.8 decibels, much
higher than the accepted standard of 55 decibels. Not just Chennai, almost every city in India has recorded noise levels way higher than what is
considered acceptable. The primary reason is the lack of focus. While authorities and environmentalists have dedicated their efforts in dealing
with air and water pollution, but little has been done for noise, at least in India.

The Noise Pollution (Regulation and Control) Rules, 2000 provide a road map for noise control, but seldom are its provisions put to use. Not just
that, considering the change in the country’s technological and transportation landscape, the rules are proving to be largely inadequate. The rules
ban honking in silence zones—though the ban is seldom enforced—they do not put any restrictions on the type of horn used in vehicles.
Realizing the shortcoming, the CPCB in 2017 decided to ban musical, multi-toned and pressure horns in metro cities. This is also barely
implemented. While air horns and pipe horns are banned from use, they are openly sold in auto shops across cities.

In comparison, developed nations have prescribed standards for horns in vehicles and rules for when drivers can honk. “A horn should not be
sounded when stationary on a road at any time, other than at times of danger due to another vehicle on or near the road. A horn should not be
used on a moving vehicle on a restricted road (one that has street lights and a 30mph limit) between the times of 11:30 pm and 7:00 am,” says the
UK law. What India needs more than ranking cities in terms of noise is a comprehensive policy to help authorities deal with the menace before it
gets out of hand, as is the case with air and water.

Sub questions

Question Number : 76 Question Id : 7532291697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be the suitable title for the given passage?
Options :

1. # The growing pollution in Chennai

2. % Air and water pollution

3. ¥ Noise pollution — an often overlooked problem

4., % New scheme of Mumbai

Question Number : 77 Question Id : 7532291698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following standards is NOT prescribed by developed nations for the noise pollution?
Options :

1. * A horn should not be sounded when stationary on a road at any time.

2. # A horn should not be used on a moving vehicle on a restricted road.

3. ¥ A horn should not be used on a moving vehicle between the times of 11:30 am and 7:00 pm.



4. % A horn can be sounded at times of danger due to another vehicle on or near the road.

Question Number : 78 Question Id : 7532291699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What reason has been given by the author for growing noise pollution in Indian cities?
Options :

1. ¢ Authorities and environmentalists are more concerned about air and water pollution.
2. % Authorities in India have made no proper reforms in respect of noise pollution.

3. # There is no proper road map for noise control.

4. # Rise of construction activities in a daytime.

Question Number : 79 Question Id : 7532291700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the antonym of the word ‘menace’?
Options :

1. # Disparage

2. % Peril

3. % Harmful

4. ¥ Felicitous

Question Number : 80 Question Id : 7532291701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What conclusion can be drawn from the given passage?

Options :

1. ¥ Apart from air and water pollution, stringent policies for noise pollution are also required.
2. % New schemes should be implemented to curb unnecessary construction activities.

3. % Noise pollution is on the rise in India and the government is busy in other affairs.

4. % A comprehensive policy is required to control air and water pollution, before curbing noise pollution.
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Question Number : 81 Question Id : 7532291702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. % fowrfeays
2. ¢ Topar-faxiyor
3. ® SIS

4. % IeYSIYh

Question Number : 81 Question Id : 7532291702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® foupfeays
2. ¢ Thar-favio
3. % qAgEYD

4. % YYD

Question Number : 82 Question Id : 7532291703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T T Yoc T FHT U< 1 BT

HHA & FHM A0
Options :

1. ® RO Y HHA
2. ¢ TRULHHAA

3. % HHA-TRI

4. % HHAR

Question Number : 82 Question Id : 7532291703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3T 7T YTeg &1 YU UG JTd BT

HHA & JHM A0
Options :

1. % RO Y HHA
2. ¢ TRULHHAA

3. % HHA-TRI

4. % HHATR

Question Number : 83 Question Id : 7532291704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FafaRad real & ¥ HH 0 GHHS T 82
Options :

1. % grem

2. % HIPII

3. ¢ U

4, % X641

Question Number : 83 Question Id : 7532291704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrafaRad Srsal & 9 HH 0 THHS o g7
Options :

1. % grer

2. % HIPI

3. ¢ U

4, % 641

Question Number : 84 Question Id : 7532291705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
f3T 7T a1 & IUYed Teg 1 T B Nad RIH B gfd B

TR a1 &1 s g & R H e 38 T
Options :

1. % 3Meiafed

2. % gl

3. ¢ W

4. % Siifad

Question Number : 84 Question Id : 7532291705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 7T a1 & IUYe e &1 T8 B Nad RIH B il B
IR U & 3aTS g & IR & AR o TE T

Options :

1. % 3fgiafohd
2. % ‘g,’:@

3.9 W

4. % Sifad

Question Number : 85 Question Id : 7532291706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFaferfad argaixr o fofe IfId Wsg &1 T HifoT|
ICEIRRIRACE)

Options :
1. ® U=y
2. % od¥
3. ¢ AN




4. % HUS

Question Number : 85 Question Id : 7532291706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fuferRaa areir & forw IRId Wsg &1 994 HIfvU|
ICEIRRIRACE)

Options :
1. % U=y
2. % od¥
3. % AN
4. % HUS

Question Number : 86 Question Id : 7532291707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fa T wrsal A Y I &1 99A P
Options :

1. ¢ Hlalq

2. % Acald

3. % 9aM

4. % dlad

Question Number : 86 Question Id : 7532291707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 7T Trec & Y T BT TG Do |
Options :

1. ¢ A+

2. % Fald



3. % 9gM
4. % e

Question Number : 87 Question Id : 7532291708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fU 71T Srec 10 &1 a1 s JiH AT BT
dtd - qid

Options :
1.”%:%
2. % g1 Idiv
3.53@:?1333[
4.%«”‘1’#:@

Question Number : 87 Question Id : 7532291708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3U 77T sg T o1 Te! e T J1d BT

LSRG
Options :
1.*%@:%’
2.*%?[:@5[
3.*@:{3@??[
4.-'/T|ff:1:iﬂ§

Question Number : 88 Question Id : 7532291709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faT U 9TRT T T8 J1d B |




EHEACIRECIGE
Options :
1. % Yy
2. % 3dH
3. % AYH
4.9 HY

Question Number : 88 Question Id : 7532291709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
QU 71T 9T &1 T T DifoTT|

for s SR H a1 1|
Options :

1. % gyy

2. % 3TH

3. % AYH

4. v 3

Question Number : 89 Question Id : 7532291710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafaa aret o § ey areg 31a B

Options :

1. % 9 Y= & (91 & -Tg! B Ahdl|

2. ¢ TS A & U Y9 7161 §, <1 98 D Aa] B A |
3. % O]9 $ 7ol R Tdhdl fdhg 39D N o gl g

4. % TI9 & UM ¢ e8] § YT 98 S el B g

Question Number : 89 Question Id : 7532291710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fafeRad arei O 9 iy a1y F1d Fifor

Options :

1. % g9 = & [a1 & -Tg] DR gl

2. ¢ i AT & UM 4 181 &, 1 98 S Tl DR adhdl|
3. % U $B Tal B hdl [dhd IUb U & 8! g

4. % T & U 9 a1 § SUfE 98 $© Tl R |

Question Number : 90 Question Id : 7532291711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferRad arert ® A TR a1 J1d SHifwid |
Options :

1. % I94 gl SR & A4 |

2. % S § 39 FT, I B H 9 T
3. % ¢ 98 $© Hedl, dl § HH S|

4. IG5 Hg 9 T g T4

Question Number : 90 Question Id : 7532291711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofafed arel ® 9§ TRd a1 J1d S|
Options :

1. % I BT 3R H A T

2. % S 1 39 Pel, 99 g1 H 7 T
3. % Tfe 98 $ FHadl, i & {1 SITdT|

4. 9P g I H gH T[4

Question Number : 91 Question Id : 7532291712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



feu ¢ 919y H 994 J1d HIT|
ity sufad & fore Tda i foran ST g1

Options :

1. % Uchdd-
2. ¥ dgdd-
3. % fgae

4. % Uhda adl ggda- gl

Question Number : 91 Question Id : 7532291712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou ¢ a1 H 99 F1d HIoT|
ity safad & fore Ida wai frar ST g

Options :

1. # Uhddd
2. ¥ dgdd-
3. % fgaem

4. % Uebdo U1 Sgad alHl

Question Number : 92 Question Id : 7532291713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau ¢ fovm gl o & @ra forg Srd ifou
Options :

1. % .

2. %

3. % .

b

4.0



Question Number : 92 Question Id : 7532291713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f¢T Tq form fgl & 4 ofmud fg J1d St
Options :

1. %

2. %

3.%

4.0

Question Number : 93 Question Id : 7532291714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e form fagl © O WaieH g 31d Sifoe |
Options :

1' -

2.

3%

4. %

Question Number : 93 Question Id : 7532291714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e form fagl § O WaieH g 31d i
Options :

1' -

2.V

3%

4, %

Question Number : 94 Question Id : 7532291715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 7o IR fawedl & 9, 39 faded o7 9o 3 ot fT 7T gerer & 31 &1 a9y U I oJad HRal g |
TR T T ST

Options :

1. ¢ AN dlH

2. % DUl Al

3. % B BH I

4, % Ay SRal

Question Number : 94 Question Id : 7532291715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, fau 0 oR fawedl & 9§, 39 fadmed &1 997 &3 1 fou T8 geTar & 31 ol Ya9% U § oJad HRdl g |
TR T ST

Options :

1. A d1YH

2. % Heq- HRAT

3. % B3 HH A

4. % AU ST

Question Number : 95 Question Id : 7532291716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 7o IR fawedl § 9, 39 fawed o1 9o 3 ot fT 70 gerer & 31 &1 a9y U ¥ oJad HRal g |

PTG BT I Gl
Options :

1. % g § S &1
2. % §gd ORI HRAl
3. v 9gd 981 4™ g1




4. % JISTON BT

Question Number : 95 Question Id : 7532291716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue ), fou U IR faweal & ¥, 39 fadmen &1 997 & 1 fou U geTak & 31 ol Ya9% U § oJad Rl ¢ |
CarEaReT Gl

Options :

1. # gigd o ST o1
2. % Sgd IR DAl
3. ¢ 9gd ST @ gl
4. % FIASTSH BRI

Sub-Section Number : 2
Sub-Section Id : 753229113
Question Shuffling Allowed : Yes

Question Id : 7532291717 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

TS TR T 1 | TTRIRT & TR OR Uid U fau 7 § | TRI1 &1 9-gd e Ue a1 U Uy & IR faded 8§ § 9g fadwed |

YR & TS o T AIERI B T30 TRURT § R Ol AERI &1 -1 81 §HR S H S T &1 AIeR ot YHUTH I TATT STl 3|
I Ul & a7 IH BT STUNET ot IRaT ol BT ST GoHT UMl 39 &1 ¢al TR B Yoll-3EH1 $i Sl ¢ | GRIa i 5, 3 i el
At & 1Y BT IR 96 R BT YHUT FXd §U SaTed Ugad & | BRTol Sd &1 981 7 ¢ | Al IRead! & e &1 gdt it g7 o
HESAER G g@sﬁvwﬁ&r&nm&mmﬁ%%wsmw Hl-ﬂwldl%mmudlﬁdeHﬁmﬁGﬂ?ﬁﬁaﬁ%sﬂ%ﬁ
29 {39 are 930 UaH Qde! &1 it Yo fara STTaT § 98 AigR SHak! a1 Hhas) |18 B A" Y & e U &1 gat faf &1 JAma S g |
Ui TS $© Tfehd Bl § 3R et IR Y Sfiq &) Heqd Hd 81 7 fbar! & o ggd Ageaqul Hrw giefl €, aifeh STt
@?ﬁﬁuaﬁwﬁ%sqmﬂaﬂ%’r@rﬁwwrﬁwﬁmm%sﬁ%ﬁuatﬁlﬁaﬁ?r%maumqﬁfw iR TG RI-AUTd-
SSHIRMAT 3R P AP H T I & 1Y FART &1dl ¢ | 0T H 6] 59 Ud Bl “Jhd g & g1 A1 9 71 § o1 seHRam d 39 ud
& R AT GG & A I ST 971 § d S0 Ui b1 died gt Bgasil 9§ oifew grar gl

Sub questions




Question Number : 96 Question Id : 7532291718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR H 39 Ud & f5g 98 Q ST S1dT 82
Options :

1. % TR

2. ¢ BRI IRt

3. % B

4. % gl

Question Number : 97 Question Id : 7532291719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g Ud e HIT STl 82

Options :

1. % et fof( e uel)

2. % qarg fof(e uel)

3. Ul fafd (et e

4. % g0 faf(re &)

Question Number : 98 Question Id : 7532291720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
<9 {1 {5 Gt o1 o7 garm Ut
Options :

1. ¢ Tl od

2. % AP Gat

3. % STEH &dl

4. % quidt gt

Question Number : 99 Question Id : 7532291721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

39 Ud 1 3R 5T T8 ST ST 82
Options :

1. % JE b1 g

2.« ot Gage

3. % el b e

4. % Bl

Question Number : 100 Question Id : 7532291722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Iudad TR 1 IUged X a1 grm?
Options :

1. ® U StaH

2. % Bl DI e

3. % BRI BT gt

4. 94d U=t

Question Id : 7532291717 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

TS TR e 71 8 | TTRIiRT o SR WR Gid Uy AU TN § | TRIi=T & SA-gdes U adT Ui Uy H IR fdsed! O ¥ 98! fadwed |

YR & UAH ¥ A AIERI B 3UT-3T- URTRT § YR o AERI BT -1 8 | TAR <=1 B S Ut o1 @R F8t YT ¥ H=™1 S g |
S Gl & 131 1 1 ST ot TRTI ot T STH goim U1l 39 & ot TR 1 Yoll-3rei1 1 SiTell 8 | YRIa o1 H, 39 f& Iram
T & 1Y BTl TR d3HR TR BT YHU Hd §U Galerd Ugdd A | BRTe ¥ d P ST Hewd o | Al G Bl faa 1 dt o} g1 &l
g1 39 [T &1 I, IS 3T Hell o1 FR1ef 1 SIRT FHRA & 1o1T TST IAH T 971l & | A TRl YR TaH 9 &1 o1 Fgl offll § saierd
29 o areg 9o vaH Gas! &1 Hit Uoi o 11T € 98 AR SHas! a1 Ras! ATg H ATd A1 & Yot U8l &1 g fafy &l 7= S g1
Ui § 99 $3 Ffhd BIdT § 3R Gedt TR T4 Siia &) Heg¥ o3 ¢ | I8 [l & e 9gd eyl 4 gid1 8, ifes 37! Bhd
Wl § U oIchl § 1 39 9 AIgRT H s daHl o1 fa=iy Heed 51 38 o daret o) dad & | I8 Yol Ydl YR -UfEHR-aRaI¢I-uTe-
SSHIRMEAT 3R P AP H T I & 1Y FART O1dl ¢ | 9T & 6] 59 Ud Bl “JHd UaHr & g1 A9 9 T § 51 seHRam d 59 ud
& g AT GG & A I ST 971 § d S0 Ui o1 died gt Bgasi F ¢ifiew grar gl

Sub questions




Question Number : 96 Question Id : 7532291718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSR H 39 Ud & {5y T8 ST 91T 82
Options :

1. % TR

2. ¢ BRI IRt

3. % BRI

4. % gl

Question Number : 97 Question Id : 7532291719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g Ud e HTAT SITdl 82

Options :

1. % et fofi(RIeT ue)

2. % qarg fof(e uel)

3. Ul fafd (et e

4. % g0 faf(red ue)

Question Number : 98 Question Id : 7532291720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 o fob g dt &1 o gaim U
Options :

1. ¢ T ot

2. % AP <At

3. % STEh &dl

4. % qurdt ot

Question Number : 99 Question Id : 7532291721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

3 Ud ol 3R f5g 18 I ST 911 82
Options :

1. % J B ARy

2.« &} U

3. % HAT DI R

4. % T

Question Number : 100 Question Id : 7532291722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sudad T H1 Juged e 1 g
Options :
1. % TS
2. % ol i e
3. % TIGRI BT Y+l
4.« 8 U
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Group Number : 6
Group Id : 75322994
Group Maximum Duration : 0
Group Minimum Duration : 0
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Disciplinel

Section Id : 75322994
Section Number : 1

Section type : Online
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Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229114
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7532291723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

It makes me feel (1)/ small when you keep (2)/ things from me. (3)/ No error (4)
Options :

1. # 1

2.% 2

3.%3

4. 4

Question Number : 101 Question Id : 7532291723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

It makes me feel (1)/ small when you keep (2)/ things from me. (3)/ No error (4)
Options :
1. %1



2. %2
3. %3
4.9 4

Question Number : 102 Question Id : 7532291724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

I ignored the burning pain (1)/ in my arm and shoulder (2)/ and aimed a suddenly kick towards the goal.(3)/ No error (4)
Options :

1. % 1

2.% 2

3.3

4. % 4

Question Number : 102 Question Id : 7532291724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

I ignored the burning pain (1)/ in my arm and shoulder (2)/ and aimed a suddenly kick towards the goal.(3)/ No error (4)
Options :

1. %1

2.% 2

3.3

4. % 4

Question Number : 103 Question Id : 7532291725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.



Ram looked at me in (1)/ surprise because it was not (2)/ mine habit to make demands.(3)/ No error (4)
Options :

1. %1

2.% 2

3.3

4. % 4

Question Number : 103 Question Id : 7532291725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Ram looked at me in (1)/ surprise because it was not (2)/ mine habit to make demands.(3)/ No error (4)
Options :

1. % 1

2. % 2

3.3

4. % 4

Question Number : 104 Question Id : 7532291726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The brain is composed of (1)/ many different regions (2)/ interacting with every other. (3)/ No error (4)
Options :

1. #* 1

2. % 2

3.9 3

4. % 4

Question Number : 104 Question Id : 7532291726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The brain is composed of (1)/ many different regions (2)/ interacting with every other. (3)/ No error (4)
Options :

1. % 1

2. % 2

3.3

4. % 4

Question Number : 105 Question Id : 7532291727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Many of ours values are products (1)/ of events that are not representative (2)/ of the world at large.(3)/ No error (4)
Options :

1.¥ 1

2. %2

3.%3

4. % 4

Question Number : 105 Question Id : 7532291727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Many of ours values are products (1)/ of events that are not representative (2)/ of the world at large.(3)/ No error (4)
Options :

1.¥ 1

2.% 2

3.%3

4. % 4



Question Number : 106 Question Id : 7532291728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The maids will bathe you (1)/ in perfumed waters and arranges your (2)/ hair in the latest style. (3)/ No error (4)
Options :

1. #* 1

2.9 2

3.%3

4. % 4

Question Number : 106 Question Id : 7532291728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The maids will bathe you (1)/ in perfumed waters and arranges your (2)/ hair in the latest style. (3)/ No error (4)
Options :

1. %1

2.9 2

3.% 3

4, % 4

Question Number : 107 Question Id : 7532291729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

It was one of those (1)/ old-fashioned letters which one (2)/ find in old family desk drawers. (3)/ No error (4)
Options :
1. %1



2. %2
3.¢3
4. % 4

Question Number : 107 Question Id : 7532291729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

It was one of those (1)/ old-fashioned letters which one (2)/ find in old family desk drawers. (3)/ No error (4)
Options :

1. # 1

2.% 2

3.3

4. % 4

Question Number : 108 Question Id : 7532291730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The old beggar-man took advantage (1)/ of David absence to rest for a (2)/ moment on a wooden bench. (3)/ No error (4)
Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 108 Question Id : 7532291730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.



The old beggar-man took advantage (1)/ of David absence to rest for a (2)/ moment on a wooden bench. (3)/ No error (4)
Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 109 Question Id : 7532291731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

I spent the first day after (1)/ I have reported her missing pacing up and (2)/ down the house I had been staying at. (3)/ No error (4)
Options :

1. %1

2.9 2

3.% 3

4. % 4

Question Number : 109 Question Id : 7532291731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

I spent the first day after (1)/ I have reported her missing pacing up and (2)/ down the house I had been staying at. (3)/ No error (4)
Options :

1. %1

2.9 2

3.%3

4. % 4

Question Number : 110 Question Id : 7532291732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

One of our studies from the expedition (1)/ suggested that the sediments below oxygen-depleted (2)/ waters is a significant source of nitrous
oxide. (3)/ No error (4)

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 110 Question Id : 7532291732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

One of our studies from the expedition (1)/ suggested that the sediments below oxygen-depleted (2)/ waters is a significant source of nitrous
oxide. (3)/ No error (4)

Options :
1. %1
2.% 2
3.3
4. % 4

Question Number : 111 Question Id : 7532291733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Emotions are a pattern of physiological (1)/ and psychological responses to a meaningful situations, (2)/ such as the outcome of a football match.
(3)/ No error (4)

Options :
1. %1
2.¥2



3. %3
4. % 4

Question Number : 111 Question Id : 7532291733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Emotions are a pattern of physiological (1)/ and psychological responses to a meaningful situations, (2)/ such as the outcome of a football match.
(3)/ No error (4)

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 112 Question Id : 7532291734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Now that all of the snow had (1)/ melted, the professional search-and-rescue (2)/ teams are out again. (3)/ No error (4)
Options :

1.¥ 1

2. % 2

3.%3

4, % 4

Question Number : 112 Question Id : 7532291734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.



Now that all of the snow had (1)/ melted, the professional search-and-rescue (2)/ teams are out again. (3)/ No error (4)
Options :

1.¥1

2.% 2

3.%3

4. % 4

Question Number : 113 Question Id : 7532291735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Farmers of the Piedmont Plateau former kept larger numbers of horses and cattle.
Options :

1. ¢ formerly kept large numbers of
2. # kept formerly larger numbers of
3. % former have kept large number of

4. ¥ No improvement

Question Number : 113 Question Id : 7532291735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Farmers of the Piedmont Plateau former kept larger numbers of horses and cattle.
Options :

1. ¥ formerly kept large numbers of
2. % kept formerly larger numbers of
3. # former have kept large number of

4. ¥ No improvement



Question Number : 114 Question Id : 7532291736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

The main benefit of the debt snowball method are that you saw results sooner.
Options :

1. # was that you will see
2. ¥ is that you see
3. % are that you have seen

4. ¥ No improvement

Question Number : 114 Question Id : 7532291736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

The main benefit of the debt snowball method are that you saw results sooner.
Options :

1. % was that you will see
2. ¥ is that you see
3. % are that you have seen

4. ¥ No improvement

Question Number : 115 Question Id : 7532291737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

A woman watering plants in a opposite window given a involuntary shout and dropped a flower-pot.
Options :




1. ¥ in an opposite window gave an
2. # in the opposition window gave an
3. % in the opposite window given an

4. ¥ No improvement

Question Number : 115 Question Id : 7532291737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

A woman watering plants in a opposite window given a involuntary shout and dropped a flower-pot.

Options :

1. ¥ in an opposite window gave an

2. % in the opposition window gave an
3. # in the opposite window given an

4. ¥ No improvement

Question Number : 116 Question Id : 7532291738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

The smoke was bothering I and me didn't wanted to ruin the party for all of you.
Options :

1. #* myself and I didn't wanted

2. % me and I didn't want

3. #* T and me didn't want

4. ¥ No improvement

Question Number : 116 Question Id : 7532291738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

The smoke was bothering I and me didn't wanted to ruin the party for all of you.
Options :

1. # myself and I didn't wanted

2. % me and I didn't want

3. #* T and me didn't want

4. ¥ No improvement

Question Number : 117 Question Id : 7532291739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Retail and hospitality trade bodies has come together to call off action to tackle credit card fees.

Options :

1. ¥ have come together to call for

2. % has come together calling on

3. # coming together for calling against

4. ¥ No improvement

Question Number : 117 Question Id : 7532291739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Retail and hospitality trade bodies has come together to call off action to tackle credit card fees.
Options :
1. ¥ have come together to call for

2. # has come together calling on



3. % coming together for calling against

4. ¥ No improvement

Question Number : 118 Question Id : 7532291740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

When you see animals as fellow beings it change the ethical relationship from the world.

Options :

1. # the ethical relationship with changes from
2. % it changes the ethic relationship from

3. ¥ it changes the cthical relationship with

4. ¥ No improvement

Question Number : 118 Question Id : 7532291740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

When you see animals as fellow beings it change the ethical relationship from the world.

Options :

1. # the ethical relationship with changes from
2. # it changes the ethic relationship from

3. ¢ it changes the ethical relationship with

4. ¥ No improvement

Question Number : 119 Question Id : 7532291741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No



improvement’ as your answer.

Legacy pollutants like PCBs are chemical contaminants that take a longer time to break up in the environment.
Options :

1. # taken a longer time to break off
2. ¥ take a long time to break down
3. % takes a long time to break down

4. ¥ No improvement

Question Number : 119 Question Id : 7532291741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Legacy pollutants like PCBs are chemical contaminants that take a longer time to break up in the environment.
Options :

1. ® taken a longer time to break off
2. ¥ take a long time to break down
3. # takes a long time to break down

4. ® No improvement

Question Number : 120 Question Id : 7532291742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

One advantage of the introduction of carriages were that it created a demand of a lightest and quicker sort of horse.
Options :

1. ¥ was that it created a demand for a lighter

2. % were that it created a demand for a light

3. % were that it has created a demand of a lighter

4. ¥ No improvement



Question Number : 120 Question Id : 7532291742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

One advantage of the introduction of carriages were that it created a demand of a lightest and quicker sort of horse.
Options :

1. ¥ was that it created a demand for a lighter

2. # were that it created a demand for a light

3. % were that it has created a demand of a lighter

4. ¥ No improvement

Discipline2
Group Number : 7
Group Id : 75322995
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline2
Section Id : 75322995
Section Number : 1
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229115
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 7532291743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

The relationship between how people know and how they act is not always linear.
Options :

1. ¥ much

2. * more

3. * most

4. * many

Question Number : 121 Question Id : 7532291743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

The relationship between how people know and how they act is not always linear.
Options :

1. ¥ much

2. % more

3. % most

4. % many

Question Number : 122 Question Id : 7532291744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

Holding the bill made her hands sweat and her heart beat
Options :

1. % fast

2. ¥ faster

3. # fastness

4. % fastest

Question Number : 122 Question Id : 7532291744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

Holding the bill made her hands sweat and her heart beat
Options :

1. % fast

2. ¥ faster

3. # fastness

4. ® fastest

Question Number : 123 Question Id : 7532291745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

Stefan doesn't need to go for his football match he wants to.
Options :

1. # since

2. % still

3. * until



4. ¥ unless

Question Number : 123 Question Id : 7532291745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

Stefan doesn't need to go for his football match he wants to.

Options :
1. #* since
2. % still
3. * until
4. ¥ unless

Question Number : 124 Question Id : 7532291746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

The lady to he was presenting the letters of introduction came into the category of nice people.
Options :

1. ® who

2. % whose

3. % whom

4. % which

Question Number : 124 Question Id : 7532291746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

The lady to he was presenting the letters of introduction came into the category of nice people.
Options :



1. * who

2. * whose
3. % whom
4. % which

Question Number : 125 Question Id : 7532291747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

Bombarded with promotions, consumers buy more they need.
Options :

1. ® which

2. # then

3. * that

4. ¥ than

Question Number : 125 Question Id : 7532291747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

Bombarded with promotions, consumers buy more they need.
Options :

1. ® which

2. % then

3. % that

4. ¥ than

Question Number : 126 Question Id : 7532291748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate prepositions from the given options to fill in the blanks and complete the sentence.



Turkestan camels are accustomed stride up the stony terraces mountain passes.
Options :

1. ¥ to, of

2. % on, with

3. % of, to

4. #® off, of

Question Number : 126 Question Id : 7532291748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate prepositions from the given options to fill in the blanks and complete the sentence.

Turkestan camels are accustomed stride up the stony terraces mountain passes.
Options :

1. ¥ to, of

2. % on, with

3. #® of, to

4. #® off, of

Question Number : 127 Question Id : 7532291749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate prepositions from the given options to fill in the blanks and complete the sentence.

It was a relief Mr. Johnson when the aunt bustled the room with a whirl of apologies.
Options :

1. #* for, on

2. % to, into

3. # with, over

4. % upon, from

Question Number : 127 Question Id : 7532291749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate prepositions from the given options to fill in the blanks and complete the sentence.

It was a relief Mr. Johnson when the aunt bustled the room with a whirl of apologies.
Options :

1. #® for, on

2. % to, into

3. #® with, over

4. % upon, from

Question Number : 128 Question Id : 7532291750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate prepositions from the given options to fill in the blanks and complete the sentence.

Dogs were sleeping the sidewalk in the shade the houses.
Options :

1. # at, below

2. % in, off

3. % upon, across

4. % on, of

Question Number : 128 Question Id : 7532291750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate prepositions from the given options to fill in the blanks and complete the sentence.

Dogs were sleeping the sidewalk in the shade the houses.
Options :

1. #® at, below

2. % in, off

3. % upon, across



4. % on, of

Question Number : 129 Question Id : 7532291751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate verbs from the given options to fill in the blanks and complete the sentence.

I assumed his bedroom beyond the large living room that the front of the house.

Options :

1. # lying, had dominated
2. % lie, dominates

3. ¥ lay, dominated

4. # lies, dominate

Question Number : 129 Question Id : 7532291751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate verbs from the given options to fill in the blanks and complete the sentence.

I assumed his bedroom beyond the large living room that the front of the house.
Options :

1. # lying, had dominated

2. % lie, dominates

3. % lay, dominated

4. % lies, dominate

Question Number : 130 Question Id : 7532291752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate verb from the given options to fill in the blanks and complete the sentence.

My strategy for entering the American TV world to initially play roles where my ethnicity character.
Options :



1. * were, has not defined
2. ¥ was, did not define
3. ®* had been, does not define

4. # was, not defines

Question Number : 130 Question Id : 7532291752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate verb from the given options to fill in the blanks and complete the sentence.

My strategy for entering the American TV world  to initially play roles where my ethnicity character.
Options :

1. # were, has not defined

2. ¥ was, did not define

3. #* had been, does not define

4. # was, not defines

Question Number : 131 Question Id : 7532291753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks to complete the given sentence by choosing the appropriate words from the given options.

We have begun conversations with both groups and hope to help them their fleets more effectively.
Options :

1. # lightly, summon

2. # surgically, vanquish

3. % eventually, deploy

4. ® purposely, incapacitate

Question Number : 131 Question Id : 7532291753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks to complete the given sentence by choosing the appropriate words from the given options.



We have begun conversations with both groups and hope to help them their fleets more effectively.
Options :

1. # lightly, summon

2. # surgically, vanquish

3. ¥ eventually, deploy

4. # purposely, incapacitate

Question Number : 132 Question Id : 7532291754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks to complete the given sentence by choosing the appropriate words from the given options.

The domestic order and of the kingdom had been restored by his father.
Options :

1. # serenity, voracious

2. # brevity, culpable

3. % tranquillity, painstaking

4. # clemency, solemn

Question Number : 132 Question Id : 7532291754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks to complete the given sentence by choosing the appropriate words from the given options.

The domestic order and of the kingdom had been restored by his father.
Options :

1. # serenity, voracious

2. # brevity, culpable

3. ¥ tranquillity, painstaking

4. % clemency, solemn

Question Number : 133 Question Id : 7532291755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks to complete the given sentence by choosing the appropriate words from the given options.

Warm-blooded fishes are able to deal with ambient temperatures by their body temperatures.
Options :

1. ¥ changing, stabilising

2. % recording, energising

3. ¥ immediate, surrendering

4. # modifying, revitalising

Question Number : 133 Question Id : 7532291755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks to complete the given sentence by choosing the appropriate words from the given options.

Warm-blooded fishes are able to deal with ambient temperatures by their body temperatures.
Options :

1. ¥ changing, stabilising

2. % recording, energising

3. ¥ immediate, surrendering

4. ® modifying, revitalising

Question Number : 134 Question Id : 7532291756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks to complete the given sentence by choosing the appropriate words from the given options.

His internal administration, though not rigorous to check abuses, was and thoughtful.
Options :

1. # adequately, lament

2. % sufficiently, upright

3. % perpetually, crooked



4. # rightly, gaudy

Question Number : 134 Question Id : 7532291756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks to complete the given sentence by choosing the appropriate words from the given options.

His internal administration, though not rigorous to check abuses, was and thoughtful.

Options :

1. # adequately, lament
2. % sufficiently, upright
3. # perpetually, crooked
4. % rightly, gaudy

Question Number : 135 Question Id : 7532291757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these
correct parts.

(1) She told her friends
(i1) That she had been
(111) Playing football for
(iv) Her father left.
Options :

1. #® Only (iii)

2. % (i) and (iii)

3. % (i) and (iv)

4. % (i), (ii), (iii) and (iv)

Question Number : 135 Question Id : 7532291757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these



correct parts.

(1) She told her friends
(i1) That she had been
(ii1) Playing football for
(iv) Her father left.
Options :

1. % Only (iii)

2. % (i) and (iii)

3. % (i) and (iv)

4. ¥ (i), (ii), (iii) and (iv)

Question Number : 136 Question Id : 7532291758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these
correct parts.

(1) Sneha and Dhiraj was split up
(i1) After being taken

(ii1) On care and placed

(iv) With differently families.

Options :

1. % (ii) and (iii)
2. % (i) and (iv)
3. * Only (iii)
4. % Only (ii)

Question Number : 136 Question Id : 7532291758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these
correct parts.

(1) Sneha and Dhiraj was split up



(i1) After being taken
(ii1) On care and placed
(iv) With differently families.

Options :

1. % (ii) and (iii)
2. % (i) and (iv)
3. * Only (iii)
4. % Only (ii)

Question Number : 137 Question Id : 7532291759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these
correct parts.

(1) Saturated fats can be bad

(i1) And can rose cholesterol

(ii1) For us while eaten in excess,

(1v) And increase risk of heart disease.

Options :

1. # (ii) and (iii)

2. % (i) and (iv)

3. % Only (i)

4. % (i), (iii) and (iv)

Question Number : 137 Question Id : 7532291759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these
correct parts.

(1) Saturated fats can be bad

(i1) And can rose cholesterol

(111) For us while eaten in excess,

(iv) And increase risk of heart disease.



Options :

1. % (ii) and (iii)

2. % (i) and (iv)

3. % Only (i)

4. ® (i), (iii) and (iv)

Question Number : 138 Question Id : 7532291760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these
correct parts.

(1) One cruise provider had listed controlling
(i1) The transmission of diseases

(ii1) Onboard and to protect employees

(iv) As it’s only pandemic-related risks.

Options :

1. % Only (ii)

2. % (iii) and (iv)

3. % (i) and (ii)

4. # (i), (i) and (iv)

Question Number : 138 Question Id : 7532291760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these
correct parts.

(1) One cruise provider had listed controlling
(i1) The transmission of diseases

(ii1) Onboard and to protect employees

(iv) As it’s only pandemic-related risks.
Options :

1. % Only (ii)



2. # (iii) and (iv)
3. % (i) and (ii)
4. % (i), (i) and (iv)

Question Number : 139 Question Id : 7532291761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.
Options :

1. ® When she hanged up, there was a questioning look on her face.

2. % When she hung on, there was a question look on her face.

3. % When she hung up, there was a questioning look on her face.

4. ¥ When she hung up, there was a question look in her face.

Question Number : 139 Question Id : 7532291761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.
Options :

1. ¥ When she hanged up, there was a questioning look on her face.

2. % When she hung on, there was a question look on her face.

3. % When she hung up, there was a questioning look on her face.

4. ® When she hung up, there was a question look in her face.

Question Number : 140 Question Id : 7532291762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.
Options :

1. ¥ Science takes time to mature, and for uncertainties to be properly contextualised.
2. % Science takes time to mature, and for uncertainties to be proper contextualised.

3. # Science take time to mature, and for uncertainty to be properly contextualised.



4. % Science takes time in being mature, and with uncertainties to been contextualised properly.

Question Number : 140 Question Id : 7532291762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.
Options :

1. ¥ Science takes time to mature, and for uncertainties to be properly contextualised.
2. # Science takes time to mature, and for uncertainties to be proper contextualised.
3. # Science take time to mature, and for uncertainty to be properly contextualised.

4. ® Science takes time in being mature, and with uncertainties to been contextualised properly.
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Question Number : 141 Question Id : 7532291763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.
Options :

1. # Capital punishment kills a man on once, but lifelong imprisonment kills him slow.

2. ¥ Capital punishment kills a man at once, but lifelong imprisonment kills him slowly.
3. # Capital punishment kills a man at once, but lifelong imprisonment killing him slowly.

4. % Capital punishment killing a man at once, but lifelong imprisonment kill him slower.

Question Number : 141 Question Id : 7532291763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.
Options :

1. ® Capital punishment kills a man on once, but lifelong imprisonment kills him slow.

2. ¥ Capital punishment kills a man at once, but lifelong imprisonment kills him slowly.
3. # (Capital punishment kills a man at once, but lifelong imprisonment killing him slowly.

4. ® Capital punishment killing a man at once, but lifelong imprisonment kill him slower.

Question Number : 142 Question Id : 7532291764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the sentence from the given options that conforms to Standard English Usage.
Options :

1. ® She is one of the million content creators on social media who sharing photos and videos with subscribers at a month fees.



2. # She is one of the million content creators in social media which shares photos and videos for subscribers for a monthly fee.
3. ¥ She is one of the million content creators on social media who shares photos and videos with subscribers for a monthly fee.

4. # She is one of the million content creator on social media that share photos and videos with subscribers for a month fee.

Question Number : 142 Question Id : 7532291764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.

Options :

1. #® She is one of the million content creators on social media who sharing photos and videos with subscribers at a month fees.
2. % She is one of the million content creators in social media which shares photos and videos for subscribers for a monthly fee.
3. ¥ She is one of the million content creators on social media who shares photos and videos with subscribers for a monthly fee.

4. ® She is one of the million content creator on social media that share photos and videos with subscribers for a month fee.

Question Number : 143 Question Id : 7532291765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.

Options :

1. ® There is stronger empirical evidence that low interest rates has a major effect on prices if supporting by adequate mortgage credit.

2. % There is strong empirical evidence that low interest rates have a majority effect in prices if supported by adequately mortgage credit.
3. ® There is strong empirical evidence that low interest rates have a majorly affect on prices if supported with adequate mortgage credit.

4. ¥ There is strong empirical evidence that low interest rates have a major effect on prices if supported by adequate mortgage credit.

Question Number : 143 Question Id : 7532291765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.

Options :

1. # There is stronger empirical evidence that low interest rates has a major effect on prices if supporting by adequate mortgage credit.

2. % There is strong empirical evidence that low interest rates have a majority effect in prices if supported by adequately mortgage credit.

3. # There is strong empirical evidence that low interest rates have a majorly affect on prices if supported with adequate mortgage credit.



4. ¥ There is strong empirical evidence that low interest rates have a major effect on prices if supported by adequate mortgage credit.

Question Number : 144 Question Id : 7532291766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

I might cancel all my meetings.

Options :

1. ¥ All my meetings might be cancelled by me.
2. % All my meetings will be cancelled by me.
3. # Meetings may be cancelled by me.

4. ® All my meetings should be cancelled.

Question Number : 144 Question Id : 7532291766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

I might cancel all my meetings.

Options :

1. ¥ All my meetings might be cancelled by me.
2. % All my meetings will be cancelled by me.
3. % Meetings may be cancelled by me.

4. % All my meetings should be cancelled.

Question Number : 145 Question Id : 7532291767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.



Rekha had purchased a very beautiful dress.

Options :

1. ¥ A very beautiful dress had been purchased by Rekha.
2. % A dress which was very beautiful purchased by Rekha.
3. # A very beautiful dress is being purchased by Rekha.

4. ® A very beautiful dress was purchased by Rekha.

Question Number : 145 Question Id : 7532291767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

Rekha had purchased a very beautiful dress.

Options :

1. ¥ A very beautiful dress had been purchased by Rekha.
2. # A dress which was very beautiful purchased by Rekha.
3. % A very beautiful dress is being purchased by Rekha.

4. % A very beautiful dress was purchased by Rekha.

Question Number : 146 Question Id : 7532291768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

Was this watch bought by him?
Options :

1. #® Had he bought this watch?
2. ¥ Did he buy this watch?

3. # Have he bought this watch?
4. ® s this watch bought by him?



Question Number : 146 Question Id : 7532291768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

Was this watch bought by him?
Options :

1. % Had he bought this watch?
2. ¥ Did he buy this watch?

3. ¥ Have he bought this watch?
4. % Ts this watch bought by him?

Question Number : 147 Question Id : 7532291769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

The head secretary is planning to throw a party at the Chancellor club.

Options :

1. # Party throwing is planned by the head secretary.

2. ® To throw a party at the Chancellor club was been planned by the head secretary.
3. % A party at the Chancellor club is being planned by the head secretary.

4. ¥ Throwing a party is planned by the head secretary.

Question Number : 147 Question Id : 7532291769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

The head secretary is planning to throw a party at the Chancellor club.



Options :

1. #® Party throwing is planned by the head secretary.

2. % To throw a party at the Chancellor club was been planned by the head secretary.
3. ¥ A party at the Chancellor club is being planned by the head secretary.

4. ® Throwing a party is planned by the head secretary.

Question Number : 148 Question Id : 7532291770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

Can you share your apartment with my friends?

Options :

1. # Could your apartment be shared by my friends?

2. ¥ Can your apartment be shared with my friends?

3. # Could the sharing of your apartments being done by my friends?

4. % Can your apartment being shared with my friends?

Question Number : 148 Question Id : 7532291770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

Can you share your apartment with my friends?

Options :

1. #® Could your apartment be shared by my friends?

2. % Can your apartment be shared with my friends?

3. # Could the sharing of your apartments being done by my friends?

4. ® Can your apartment being shared with my friends?

Question Number : 149 Question Id : 7532291771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

By whom were you told about my whereabouts?
Options :

1. ¥ My whereabouts were been told by whom?
2. % Who has been telling my whereabouts?

3. ¥ My whereabouts was told by who?

4. ¥ Who told you about my whereabouts?

Question Number : 149 Question Id : 7532291771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

By whom were you told about my whereabouts?
Options :

1. # My whereabouts were been told by whom?
2. % Who has been telling my whereabouts?

3. # My whereabouts was told by who?

4. ¥ Who told you about my whereabouts?

Question Number : 150 Question Id : 7532291772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

My landlord says, “I read books in my free time.”
Options :
1. ¥ My landlord says that he reads books in his free time.



2. ¥ My landlord said that he was reading books in his free time.
3. % My landlord says that he did read books in his free time.
4. ¥ My landlord tells that he does reads books in his free time.

Question Number : 150 Question Id : 7532291772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

My landlord says, “I read books in my free time.”

Options :

1. ¥ My landlord says that he reads books in his free time.

2. % My landlord said that he was reading books in his free time.
3. # My landlord says that he did read books in his free time.

4. ® My landlord tells that he does reads books in his free time.

Question Number : 151 Question Id : 7532291773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

Ananya said, “I must finish all my projects today.”

Options :

1. ¥ Ananya said that she had to finish all her projects today.
2. ¥ Ananya said that she had to finish all her projects that day.
3. # Ananya said that she have to finish all my projects today.
4. # Ananya said that I have to finish all my projects today.

Question Number : 151 Question Id : 7532291773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

Ananya said, “I must finish all my projects today.”

Options :

1. # Ananya said that she had to finish all her projects today.

2. ¥ Ananya said that she had to finish all her projects that day.
3. # Ananya said that she have to finish all my projects today.
4. % Ananya said that I have to finish all my projects today.

Question Number : 152 Question Id : 7532291774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

The designer exclaimed with wonder that it was a very pretty dress.
Options :

1. ¥ The designer said, “What a pretty dress!”

2. ® The designer exclaimed, “A very pretty dress”

3. # The designer said, “What a very pretty dress”

4. ® The designer exclaimed, “A pretty dress!”

Question Number : 152 Question Id : 7532291774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

The designer exclaimed with wonder that it was a very pretty dress.
Options :

1. ¥ The designer said, “What a pretty dress!”

2. % The designer exclaimed, “A very pretty dress”

3. % The designer said, “What a very pretty dress”



4. ® The designer exclaimed, “A pretty dress!”

Question Number : 153 Question Id : 7532291775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

“Are you going forward with all these changes?”” The manager said

Options :

1. ® The manager asked whether you were going forward with all these changes.
2. % The manager asked whether I was going forward with all these changes.

3. % The manager asked if I was going forward with all those changes.

4. ® The manager asked if you were going forward with all those changes.

Question Number : 153 Question Id : 7532291775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

“Are you going forward with all these changes?”” The manager said

Options :

1. # The manager asked whether you were going forward with all these changes.
2. # The manager asked whether I was going forward with all these changes.

3. % The manager asked if I was going forward with all those changes.

4. ® The manager asked if you were going forward with all those changes.

Question Number : 154 Question Id : 7532291776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.



The banker said to me, “Where do I invest my money?”

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. The banker enquired where I have been investing my money.

2. The banker enquired that where did I invested my money.

3. The banker asks me that where I did invest my money.

4. The banker asked where I invested my money.

Question Number : 154 Question Id : 7532291776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

The banker said to me, “Where do I invest my money?”’

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. The banker enquired where I have been investing my money.

2. The banker enquired that where did I invested my money.

3. The banker asks me that where I did invest my money.

4. The banker asked where I invested my money.

Question Number : 155 Question Id : 7532291777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.



Vrinda says to her husband, “You should start saving your earnings.”

Options :

1. ¥ Vrinda tells her husband that he should start saving his earnings.

2. % Vrinda told her husband that he ought to start saving his earnings.

3. # Vrinda says to her husband that he should have started saving his earnings.

4. ® Vrinda requested her husband that he shall start saving his earnings.

Question Number : 155 Question Id : 7532291777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

Vrinda says to her husband, “You should start saving your earnings.”

Options :

1. ¥ Vrinda tells her husband that he should start saving his earnings.

2. % Vrinda told her husband that he ought to start saving his earnings.

3. % Vrinda says to her husband that he should have started saving his earnings.

4. % Vrinda requested her husband that he shall start saving his earnings.

Question Number : 156 Question Id : 7532291778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

School closures

P: education at home

Q: parents in charge of

R: have left many

S: overseeing their children’s

Options :
1. ¥ RPQS



2. % QSRP
3. ¢ RQSP
4. % PSRQ

Question Number : 156 Question Id : 7532291778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

School closures

P: education at home

Q: parents in charge of

R: have left many

S: overseeing their children’s

Options :

1. ¥ RPQS
2. % QSRP
3. ¥ RQSP
4. ¥ PSRQ

Question Number : 157 Question Id : 7532291779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

When the

P: is one and the same
Q: ship moves in

R: wave ahead of it

S: one direction there

Options :
1. ¥ QSPR
2. % PSRQ



3. ® RPQS
4. % QRPS

Question Number : 157 Question Id : 7532291779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

When the

P: is one and the same
Q: ship moves in

R: wave ahead of it

S: one direction there

Options :

1. ¥ QSPR
2. % PSRQ
3. % RPQS
4. % QRPS

Question Number : 158 Question Id : 7532291780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

Being able to

P: estimated traffic constraints

Q: model the most efficient

R: is a type of functional mathematics
S: route home, based on

Options :

1. % SQRP
2. % QPRS
3. ¥ QSPR



4. % PSRQ

Question Number : 158 Question Id : 7532291780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

Being able to

P: estimated traffic constraints

Q: model the most efficient

R: is a type of functional mathematics
S: route home, based on

Options :

1. # SQRP
2. % QPRS
3. ¥ QSPR
4. ¥ PSRQ

Question Number : 159 Question Id : 7532291781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four statements are labelled as P, Q, R and S which when logically ordered form a coherent passage. Choose the option that
represents the most logical order.

P: The tree had, doubtless, a kind of feeling that the festive time had arrived.
Q: And 1n its dream it heard the bells ringing from all the churches round.
R: And yet it seemed to it to be a beautiful summer’s day, mild and warm.

S: It was just about holy Christmas time that the tree dreamt a dream.

Options :

1. # SRPQ
2. % QRSP
3. ¥ SPQR
4. % PQRS



Question Number : 159 Question Id : 7532291781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four statements are labelled as P, Q, R and S which when logically ordered form a coherent passage. Choose the option that
represents the most logical order.

P: The tree had, doubtless, a kind of feeling that the festive time had arrived.
Q: And in its dream it heard the bells ringing from all the churches round.
R: And yet it seemed to it to be a beautiful summer’s day, mild and warm.

S: It was just about holy Christmas time that the tree dreamt a dream.

Options :

1. # SRPQ
2. % QRSP
3. ¥ SPQR
4. % PQRS

Question Number : 160 Question Id : 7532291782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four statements are labelled as P, Q, R and S which when logically ordered form a coherent passage. Choose the option that
represents the most logical order.

P: The purpose of nursery schools is to deliver high-quality early education to children before they enter primary school.
R: The aim is develop their numeracy, literacy and social skills in particular.

Q: They are led by a head teacher and employ other qualified teachers.

S: In July 2019 there were 36,500 state nursery school places available in Sydney.

Options :

1. * RSPQ
2. % SQRP
3. #* RQPS
4. ¥ PRQS

Question Number : 160 Question Id : 7532291782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the given question, four statements are labelled as P, Q, R and S which when logically ordered form a coherent passage. Choose the option that
represents the most logical order.

P: The purpose of nursery schools is to deliver high-quality early education to children before they enter primary school.
R: The aim is develop their numeracy, literacy and social skills in particular.

Q: They are led by a head teacher and employ other qualified teachers.

S: In July 2019 there were 36,500 state nursery school places available in Sydney.

Options :
1. % RSPQ
2. % SQRP
3. ®* RQPS
4. ¥ PRQS
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Question Number : 161 Question Id : 7532291783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four statements are labelled as P, Q, R and S which when logically ordered form a coherent passage. Choose the option that
represents the most logical order.

Q: Many people have died and dozens are missing after heavy rain and floods in the western German states.
R: The full extent of the damage in western Germany is still unclear.

S: Videos posted on social media showed cars floating down streets and houses partly collapsed in some places.
P: In the neighbouring western state of North Rhine-Westphalia, at least 13 people have lost their lives in the floods.

Options :

1. ¥ QRSP
2. % PSRQ
3. % SPQR
4. % RPQS

Question Number : 161 Question Id : 7532291783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four statements are labelled as P, Q, R and S which when logically ordered form a coherent passage. Choose the option that
represents the most logical order.

Q: Many people have died and dozens are missing after heavy rain and floods in the western German states.
R: The full extent of the damage in western Germany is still unclear.

S: Videos posted on social media showed cars floating down streets and houses partly collapsed in some places.
P: In the neighbouring western state of North Rhine-Westphalia, at least 13 people have lost their lives in the floods.

Options :
1. ¥ QRSP
2. % PSRQ



3. % SPQR
4. % RPQS

Question Number : 162 Question Id : 7532291784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four statements are labelled as P, Q, R and S which when logically ordered form a coherent passage. Choose the option that
represents the most logical order.

P: We live in an age where people have distanced themselves from nature.

Q: Natural England confirms that only one in nine children have access to natural environments throughout their early lives.
R: Most adults will remember spending much of their childhood playing outdoors without much parental supervision.

S: But fears for children’s safety mean many parents don’t allow their children the same freedoms

Options :

1. ¥ QPSR
2. ¥ RSPQ
3. % SPQR
4. % PRQS

Question Number : 162 Question Id : 7532291784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four statements are labelled as P, Q, R and S which when logically ordered form a coherent passage. Choose the option that
represents the most logical order.

P: We live in an age where people have distanced themselves from nature.

Q: Natural England confirms that only one in nine children have access to natural environments throughout their early lives.
R: Most adults will remember spending much of their childhood playing outdoors without much parental supervision.

S: But fears for children’s safety mean many parents don’t allow their children the same freedoms

Options :

1. ¥ QPSR
2. ¥ RSPQ
3. % SPQR
4. % PRQS



Question Number : 163 Question Id : 7532291785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Shakespearean character said the line — “To be or not to be — that is the question.”?
Options :

1. # Othello

2. ¥ Hamlet

3. % Macbeth

4. % King Lear

Question Number : 163 Question Id : 7532291785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Shakespearean character said the line — “To be or not to be — that is the question.”?
Options :

1. % Othello

2. % Hamlet

3. ¥ Macbeth

4. % King Lear

Question Number : 164 Question Id : 7532291786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following authors is associated with Romanticism?
Options :

1. # T.S. Eliot

2. % Erza Pound

3. ¥ PB. shelley

4. # Thomas Gray

Question Number : 164 Question Id : 7532291786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following authors is associated with Romanticism?
Options :

1. # T.S. Eliot

2. % Erza Pound

3. ¥ P.B. shelley

4. ¥ Thomas Gray

Question Number : 165 Question Id : 7532291787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who wrote “Lyrical Ballads™?

Options :

1. # William Wordsworth

2. % John Keats

3. % William Wordsworth and S.T. Coleridge
4. # William Wordsworth and P.B. shelley

Question Number : 165 Question Id : 7532291787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who wrote “Lyrical Ballads™?

Options :

1. ¥ William Wordsworth

2. % John Keats

3. % William Wordsworth and S.T. Coleridge
4. % William Wordsworth and P.B. shelley

Question Number : 166 Question Id : 7532291788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In Mary shelley’s “Frankenstein”, what is the name of the scientist who creates the monster?
Options :

1. ¥ Victor Frankenstein

2. # Ernest Frankenstein

3. % Captain cooper

4. % Henry Clerval

Question Number : 166 Question Id : 7532291788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Mary shelley’s “Frankenstein”, what is the name of the scientist who creates the monster?
Options :

1. ¥ Victor Frankenstein

2. # Ernest Frankenstein

3. % Captain cooper

4. % Henry Clerval

Question Number : 167 Question Id : 7532291789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the meaning of the term “renaissance”?
Options :

1. ¥ Rebirth

2. % End

3. % Morning

4. % Achievement

Question Number : 167 Question Id : 7532291789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the meaning of the term “renaissance”?
Options :



1. ¢ Rebirth

2. % End

3. ¥ Morning

4. % Achievement

Question Number : 168 Question Id : 7532291790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is lambic meter?

Options :

1. ® A meter whose foot is made of one stressed and one unstressed syllable.

2. ¥ A meter whose foot is made of one unstressed syllable followed by stressed syllable.
3. # A meter whose foot consists of two stressed syllables.

4. ® A meter whose foot consists of two unstressed syllables.

Question Number : 168 Question Id : 7532291790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is lambic meter?

Options :

1. ® A meter whose foot is made of one stressed and one unstressed syllable.

2. ¥ A meter whose foot is made of one unstressed syllable followed by stressed syllable.
3. # A meter whose foot consists of two stressed syllables.

4. ® A meter whose foot consists of two unstressed syllables.

Question Number : 169 Question Id : 7532291791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many lines does a Limerick have?
Options :

1. % 14

2. % 7



3.¢¥°5
4. % 10

Question Number : 169 Question Id : 7532291791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many lines does a Limerick have?
Options :

1. % 14

2.% 7

3.¢¥5

4. % 10

Question Number : 170 Question Id : 7532291792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was “Beloved” written by Toni Morrison published?
Options :

1. % 1954

2. % 2001

3. % 1962

4. % 1987

Question Number : 170 Question Id : 7532291792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was “Beloved” written by Toni Morrison published?
Options :

1. ® 1954

2. % 2001

3. % 1962

4, ¥ 1987



Question Number : 171 Question Id : 7532291793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“I should have been a pair of ragged claws/scuttling across the floors of silent seas” is an example of —
Options :

1. % Personifications

2. # Synecdoche

3. ¥ Metaphor

4. % Metonymy

Question Number : 171 Question Id : 7532291793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“I should have been a pair of ragged claws/scuttling across the floors of silent seas” is an example of —
Options :

1. # Personifications

2. # Synecdoche

3. ¥ Metaphor

4. % Metonymy

Question Number : 172 Question Id : 7532291794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In “Twelfth Night”, written by Williams Shakespeare, Viola changes her name to
Options :

1. # Orsino

2. # Sebastian

3. % Cesario

4. # Don Pedro

Question Number : 172 Question Id : 7532291794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In “Twelfth Night”, written by Williams Shakespeare, Viola changes her name to
Options :

1. # Orsino

2. # Sebastian

3. % Cesario

4. # Don Pedro

Question Number : 173 Question Id : 7532291795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the following, identify who was not a modernist?
Options :

1. # T.S. Eliot

2. # Virginia Woolf

3. % Sylvia Plath

4. # James Joyce

Question Number : 173 Question Id : 7532291795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the following, identify who was not a modernist?
Options :

1. ® T.S. Eliot

2. % Virginia Woolf

3. % Sylvia Plath

4. # James Joyce

Question Number : 174 Question Id : 7532291796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Who is the creator of Epic Theatre?
Options :

1. # Samuel Beckett

2. ¥ Bertolt Brecht

3. % G.B. Shaw

4. % Luigi Pirandello

Question Number : 174 Question Id : 7532291796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the creator of Epic Theatre?
Options :

1. # Samuel Beckett

2. ¥ Bertolt Brecht

3. % G.B. Shaw

4. % Luigi Pirandello

Question Number : 175 Question Id : 7532291797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the most popular meter used in a Limerick?
Options :

1. ¥ Anapaestic meter

2. % Jambic meter

3. #® Trochees meter

4. # Spondees meter

Question Number : 175 Question Id : 7532291797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is the most popular meter used in a Limerick?
Options :



1. ¥ Anapaestic meter
2. * Tambic meter
3. #* Trochees meter

4. # Spondees meter

Question Number : 176 Question Id : 7532291798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct?

I. Blank verse has a necessary rhyme scheme.
II. Blank verse is also called free verse.

Options :

1. % Only I

2. % Only II

3. % Both Iand Il
4. ¢ Neither I nor 11

Question Number : 176 Question Id : 7532291798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct?

I. Blank verse has a necessary rhyme scheme.
II. Blank verse is also called free verse.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 177 Question Id : 7532291799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Match the names of the writers to the period they belong to.

Lord Alfied ] i
I 1 | Romantic Period
Tennyson

|

I | Virginia Woolf Postcolonial Period

Il | Wole Soyenka | 3 | Victorian Era

IV | Mary Shelley 4 | Modermnism

Options :

L% 1-3,1-2,II-1,IV-4
2.9 1-3 11-4,1I1-2,1V-1
3.% 1-2,1-4,1II-1,IV-3
4, % 1-4,11-2,11-3,IV-1

Question Number : 177 Question Id : 7532291799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match the names of the writers to the period they belong to.

Lord Alfied " X
1 1 | Romantic Period
Tennyson

II | Virginia Woolf Postcolonial Period

[ ]

III | Wole Soyenka | 3 | Victorian Era

IV | Mary Shelley 4 | Modernism

Options :



1L®1-3,11-2,11-1,IV-4
2.¥1-3,11-4,11-2,IV-1
3.8 -2, 11-4,11-1,IV-3
4,814 11-2,11-3,IV-1

Question Number : 178 Question Id : 7532291800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Out of the given characters, who are present in Chaucer’s “The Canterbury Tales”?

I. The Friar’s son
II. The Joker

I1I. Wife of Bath
IV. The Knight

Options :

1. % I, Il and 11T
2. % Tand III
3.9 Il and IV
4. % I, I and IV

Question Number : 178 Question Id : 7532291800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Out of the given characters, who are present in Chaucer’s “The Canterbury Tales”?

I. The Friar’s son
II. The Joker

I1I. Wife of Bath
IV. The Knight

Options :

1. % I, Il and 11T
2. % Tand III
3.9 Il and IV
4. % I, I and IV



Question Number : 179 Question Id : 7532291801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Cain lifts Crow, that heavy black bird / and strikes down Abel / Damn, says Crow, I guess / this is just the beginning”.
These line are taken from which poem?

Options :

1. # Goats and Monkeys
2. ¥ Crow Testament

3. ® Crow

4. ¥ Sweeney Among the Nightingales

Question Number : 179 Question Id : 7532291801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Cain lifts Crow, that heavy black bird / and strikes down Abel / Damn, says Crow, I guess / this is just the beginning”.
These line are taken from which poem?

Options :

1. # Goats and Monkeys
2. ¥ Crow Testament

3. ® Crow

4. ¥ Sweeney Among the Nightingales

Question Number : 180 Question Id : 7532291802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct chronological order for the following works of Fyodor Dostoevsky.

I. Crime and Punishment

II. Demons

III. Notes from Underground
IV. The Brother Kara
Options :

.%¥ S5-I —>1V



2. ¥ -1 11—>1V
3EMNM-0-1-1V
4 # IVoI1-10-11

Question Number : 180 Question Id : 7532291802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct chronological order for the following works of Fyodor Dostoevsky.

I. Crime and Punishment

II. Demons

III. Notes from Underground
IV. The Brother Kara

Options :

L#*¥ 1o ->1->1V
2. ¥ Il ->1->1I—->1V
32 M-I —->1-1V
4. % Vo111
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Section Id : 75322998

Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 2

Number of Questions to be attempted : 2

Section Marks : 10

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229118
Question Shuffling Allowed : Yes

Question Id : 7532291803 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (181 to 185)

Read the following information carefully and answer the given questions.

Sweat is produced largely by two types of glands: eccrine and apocrine. The former covers most of the body and acts as a cooling system - during
physical exertion, sweat evaporates from the skin and helps maintain healthy body temperature. The apocrine glands, on the other hand, are
present where there is a large number of hair follicles, like the genitals and underarms. Unlike eccrine glands, which open directly on the surface
of the skin, apocrine glands open into the hair follicle which leads to the surface of the skin. They only start working after the onset of puberty,
which is why body odour is first noticed then.

Sweat is odourless until bacteria interact with it and produce foul-smelling chemicals called thioalcohol. The sweat produced by apocrine glands
is richer in protein, which can be easily broken down by bacteria. It is also produced in a warm, moist, and dark environment - ideal breeding
conditions for bacteria.

While body odour is not usually a cause for concern, it can be a consequence of (A) health issues. An overactive thyroid gland can cause
excessive sweating, whereas liver disease, kidney disease and diabetes change the composition of sweat and alter the smell. Hyperhidrosis, a
condition in which one sweats excessively from the armpits, hands and feet, is also diagnosed by a professional and there are several treatments
available to manage it.

Sub questions

Question Number : 181 Question Id : 7532291804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What can be the suitable title for the given passage?
Options :



1. ¥ Why we smell bad?
2. % Sweat and body odour
3. % A brief introduction to sweat glands

4. # Treatment of body odour

Question Number : 182 Question Id : 7532291805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT correct regarding the eccrine glands?
Options :

1. ¥ They start working after the onset of puberty.

2. # It acts as a cooling system.

3. % They open directly on the surface of the skin.

4. # It helps in maintaining healthy body temperature.

Question Number : 183 Question Id : 7532291806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hyperhidrosis is a condition in which one sweats

I. Excessively from armpits
II. More from hair follicles
1. Overly from armpits, hands and feet

Options :

1. # Iand II

2. % Il and III
3.9 Tand III

4. % [ Il and III

Question Number : 184 Question Id : 7532291807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the word ‘foul’ as used in the passage.
Options :



1. ® Nasty
2. ¥ Pleasant
3. % Meagre
4. % Salty

Question Number : 185 Question Id : 7532291808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the context of the passage, which of the following words can be placed in the blank (A)?

Options :

1. ® Rigorous

2. % Careless

3. ®* Simplifying

4. ¥ Underlying

Question Id : 7532291803 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (181 to 185)

Read the following information carefully and answer the given questions.

Sweat is produced largely by two types of glands: eccrine and apocrine. The former covers most of the body and acts as a cooling system - during
physical exertion, sweat evaporates from the skin and helps maintain healthy body temperature. The apocrine glands, on the other hand, are
present where there is a large number of hair follicles, like the genitals and underarms. Unlike eccrine glands, which open directly on the surface
of the skin, apocrine glands open into the hair follicle which leads to the surface of the skin. They only start working after the onset of puberty,
which is why body odour is first noticed then.

Sweat is odourless until bacteria interact with it and produce foul-smelling chemicals called thioalcohol. The sweat produced by apocrine glands
is richer in protein, which can be easily broken down by bacteria. It is also produced in a warm, moist, and dark environment - ideal breeding
conditions for bacteria.

While body odour is not usually a cause for concern, it can be a consequence of (A) health issues. An overactive thyroid gland can cause
excessive sweating, whereas liver disease, kidney disease and diabetes change the composition of sweat and alter the smell. Hyperhidrosis, a
condition in which one sweats excessively from the armpits, hands and feet, is also diagnosed by a professional and there are several treatments
available to manage it.

Sub questions

Question Number : 181 Question Id : 7532291804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be the suitable title for the given passage?
Options :

1. ¥ Why we smell bad?

2. ¥ Sweat and body odour

3. % A brief introduction to sweat glands

4. ® Treatment of body odour

Question Number : 182 Question Id : 7532291805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT correct regarding the eccrine glands?
Options :

1. ¥ They start working after the onset of puberty.

2. # It acts as a cooling system.

3. # They open directly on the surface of the skin.

4. # Tt helps in maintaining healthy body temperature.

Question Number : 183 Question Id : 7532291806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hyperhidrosis is a condition in which one sweats

I. Excessively from armpits
II. More from hair follicles
1. Overly from armpits, hands and feet

Options :

1. % Tand II

2. % Il and I1I
3. % Tand 111

4. % I 1 and I



Question Number : 184 Question Id : 7532291807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that is opposite in meaning to the word ‘foul’ as used in the passage.
Options :

1. # Nasty

2. ¥ Pleasant

3. * Meagre

4. % Salty

Question Number : 185 Question Id : 7532291808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the context of the passage, which of the following words can be placed in the blank (A)?
Options :

1. * Rigorous

2. % Careless

3. #* Simplifying

4. ¥ Underlying

Sub-Section Number : 2
Sub-Section Id : 753229119
Question Shuffling Allowed : Yes

Question Id : 7532291809 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (186 to 190)

Read the following information carefully and answer the given questions.

As humans we really don't think that psychologically, birds are capable of the same mental tasks that other mammals are, and much more
specifically, some of them are in the rarest of company with us, they are near-sapient, just like our close relatives.

Birds have been shown in previous studies to possess a range of skills such as complex social reasoning, an ability to problem solve and some
have even demonstrated the capability to craft and use tools. Both birds and mammals are warm-blooded, which means they can maintain a
constant body temperature and do not need to rely on an external heat source to stay warm. This similarity lends itself to several other
commonalities, such as similar caloric requirements by weight and the ability to remain active in colder temperatures. Cold-blooded animals do



not have to eat as much, but they also cannot survive colder temperatures.

Birds require a lot of energy in order to fly. This also necessitates a circulatory system that is both efficient and effective, so they have evolved a
four-chambered heart with two atria and two ventricles, just like mammals.

The blood of birds and mammals contains both red and white blood cells, called erythrocytes and leukocytes respectively. The red blood cells in
both classes of animals contain haemoglobin. Another similarity between birds and mammals is that both classes care for their young after they're
hatched or born. Female mammals feed their young by lactating, while birds feed their young beak to beak.

Sub questions

Question Number : 186 Question Id : 7532291810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the main purpose of the passage?

Options :

1. # To encourage scientists to research more on birds.

2. % To understand how birds and mammals are alike.

3. # To explain the differences between birds and humans.

4. # To motivate people to interact more with birds.

Question Number : 187 Question Id : 7532291811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The author has discussed which of the following skills of birds in the passage?

I. Complex social reasoning
II. Problem solving skill
II1. Capability to craft tools

Options :

1. % Only III

2. % Tand II

3. % Il and III
4. % ], 11 and III

Question Number : 188 Question Id : 7532291812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which characteristic of birds show that they are caring?
Options :

1. #® They fly together in a particular area.

2. # They don’t leave the side of their kind.

3. % They feed their young beak to beak.

4. # They have the capability to use tools.

Question Number : 189 Question Id : 7532291813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the word ‘efficient’ as used in the passage.
Options :

1. % Surrender

2. ¥ Proficient

3. # Incompetent

4. ® Futile

Question Number : 190 Question Id : 7532291814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The author has NOT compared which of the following characteristics of birds and mammals?
Options :

1. % Blood

2. % Heart

3. ¥ Voice

4. ¥ Body temperature

Question Id : 7532291809 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (186 to 190)

Read the following information carefully and answer the given questions.

As humans we really don't think that psychologically, birds are capable of the same mental tasks that other mammals are, and much more



specifically, some of them are in the rarest of company with us, they are near-sapient, just like our close relatives.

Birds have been shown in previous studies to possess a range of skills such as complex social reasoning, an ability to problem solve and some
have even demonstrated the capability to craft and use tools. Both birds and mammals are warm-blooded, which means they can maintain a
constant body temperature and do not need to rely on an external heat source to stay warm. This similarity lends itself to several other
commonalities, such as similar caloric requirements by weight and the ability to remain active in colder temperatures. Cold-blooded animals do
not have to eat as much, but they also cannot survive colder temperatures.

Birds require a lot of energy in order to fly. This also necessitates a circulatory system that is both efficient and effective, so they have evolved a
four-chambered heart with two atria and two ventricles, just like mammals.

The blood of birds and mammals contains both red and white blood cells, called erythrocytes and leukocytes respectively. The red blood cells in
both classes of animals contain haemoglobin. Another similarity between birds and mammals is that both classes care for their young after they're
hatched or born. Female mammals feed their young by lactating, while birds feed their young beak to beak.

Sub questions

Question Number : 186 Question Id : 7532291810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the main purpose of the passage?

Options :

1. # To encourage scientists to research more on birds.

2. % To understand how birds and mammals are alike.

3. % To explain the differences between birds and humans.

4. ¥ To motivate people to interact more with birds.

Question Number : 187 Question Id : 7532291811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The author has discussed which of the following skills of birds in the passage?

I. Complex social reasoning
II. Problem solving skill
II1. Capability to craft tools

Options :

1. % Only III
2. % Tand II

3. % Il and III
4. 1,11 and 11T



Question Number : 188 Question Id : 7532291812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which characteristic of birds show that they are caring?
Options :

1. ® They fly together in a particular area.

2. # They don’t leave the side of their kind.

3. ¥ They feed their young beak to beak.

4. # They have the capability to use tools.

Question Number : 189 Question Id : 7532291813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the word ‘efficient’ as used in the passage.
Options :

1. % Surrender

2. ¥ Proficient

3. # Incompetent

4. ® Futile

Question Number : 190 Question Id : 7532291814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The author has NOT compared which of the following characteristics of birds and mammals?
Options :

1. % Blood

2. % Heart

3. ¥ Voice

4. ¥ Body temperature



Teaching Methodology

Group Number : 11

Group Id : 75322999

Group Maximum Duration : 0

Group Minimum Duration : 120

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 10

Is this Group for Examiner? : No
Teaching Methodology

Section Id : 75322999

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 10

Number of Questions to be attempted : 10

Section Marks : 10

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 753229120

Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 7532291815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following combination is correct regarding “Readiness to Learn” a factor that affects Learning?

I. One cannot join a race if he/she is not capable of walking — Readiness related to development of intellectual skills and the acquisition of
background information
II. If one doesn’t know addition of numbers, then one cannot multiply — Readiness related to physical maturation



Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 191 Question Id : 7532291815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1
2. % HAd Il
3. % [ QYT ISl
4. TBIIATR I

Question Number : 192 Question Id : 7532291816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement doesn’t represents social development in a child?

Options :

1. ¥ Creativity develops in the children and imagination begins to grow

2. # The feeling of autonomy develops in children. They begin to explore their environment independently
3. #® Children take interest in fairy tales and animal stories

4. ¥ The sense of trust and mistrust develops in children about themselves and their environment

Question Number : 192 Question Id : 7532291816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 193 Question Id : 7532291817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“The location away from noise, rooms with proper ventilation, space for free movement inside and outside of the classroom, grounds to play and
provision for other co-curricular activities are very essential to support inclusive education.” This given statement represents which factor that
affects the Inclusive Education?

Options :

1. #® Evaluation system

2. % Preparedness of Teachers
3. ¢ Infrastructure

4. ® Availability of Resources

Question Number : 193 Question Id : 7532291817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Tegich+T Jural

2. % e Bt qarRt

3. ¢ AT

4. % G DI SUARIAT

Question Number : 194 Question Id : 7532291818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement shows Gender Discrimination?

I. A girl in a family wants to go to her friend’s house for doing a project. She is either not allowed or asked to come back before it is dusk.
II. Providing separate toilets for boys and girls.

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 194 Question Id : 7532291818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ Had I

2. % had Il

3. % [QUT I gl
4. % 1B

Question Number : 195 Question Id : 7532291819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following ‘Listen and Do’ activities we can use when we start the English lessons?

I. Giving Genuine Instructions
II. Physically moving about



III. Mime stories
IV. Drawing

Options :

1. # II, Il and IV
2. % LIl and IV

3. % Iland IV

4. ¢ 1L, Il and IV

Question Number : 195 Question Id : 7532291819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % IL I ddT IV
2. % LINTUT IV
3. % [T dUTIV

4. 111, I dIT IV

Question Number : 196 Question Id : 7532291820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are also the art works?

I. Photography
II. Ceramics
II1. Metalwork

Options :
1. ¥ 1, Il and III



2. % Only II
3. % Tand III
4, % Jand I

Question Number : 196 Question Id : 7532291820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. 1 I dYUTIII
2. % Had II

3. % 1dYTII
4. % 1dYUTII

Question Number : 197 Question Id : 7532291821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct about speech community?

I. Speech community is the only vital part of language and its usage.
II. If there had been no society or speech community, then the dictionaries and grammars would have no value.

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II

Question Number : 197 Question Id : 7532291821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1

2. % HAd Il

3. ¢ 1 UGl
4. % AT I

Question Number : 198 Question Id : 7532291822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following assessment strategies are included in the Constructivist Assessment?

I. Oral Discussion
II. Mind Mapping
II1. Pre-testing

Options :

1. # Il and III
2.9 [, Il and III
3. % Only III
4. % JTand II

Question Number : 198 Question Id : 7532291822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. = I dUTIII
2.9 LI dYTIII

3. % Had Il
4. % 19YUTII

Question Number : 199 Question Id : 7532291823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Each and every assessment is done to address specific issues of learning that a teacher faces while teaching in the classroom. Which of the
following can be those issues of learning?

I. Recurring spelling mistakes in Mother Tongue at class V level

I1. Mistakes committed while carrying over is involved in addition of two-three digit numbers
III. Faulty reading style

I'V. Incorrect observation of parts of different types of flowers

Options :

1. # II, Il and IV
2.% LI Il and IV
3. % Tand IV

4. % [, 1l and III

Question Number : 199 Question Id : 7532291823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. * I, NI dIT 1V
2.9 LIL T AT IV
3. % I dUT IV

4, % 111 dYTIII

Question Number : 200 Question Id : 7532291824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is the category of methods of classroom transaction?

I. Instructional Methods
II. Student — Centered Methods

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 200 Question Id : 7532291824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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